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Topic:- Child Development & Pedagogy (CDP)

1) According to the theory of cognitive development, the concrete operational stage starts at
age ./ AT faHTa & Rigia & SR, gd |fhraresd sawT U
& e 8l

1.5
2.1
3.3
4.7

Correct Answer :-

2) Which is vast in scope? / Fa A A s o1 &7 A ATUS %?
1. Teaching Strategy / fR1&f07 JUHIf

2. Teaching Tactic / fRr&for gfer

3. Teaching Technique / fR1&0T Tl

4. Teaching Method / fRrefor fafdr

Correct Answer :-

. Teaching Strategy / &7 I

3) IEP is the major form of instruction. / Gﬂﬁﬁ GIﬂ%QT PTUHY =4
gl

1. peer-tutoring / TehHH! [RA&H



2. Individualized / ddfIPpd

3. Identification / Ugdl+d

4. Assessment / HTh

Correct Answer :-

. Individualized / qOfdddd

4) What is the term used to denote the rules involved in putting a sentence together? / AT

?wwumﬁﬁwﬁlﬁﬁﬁuﬁaﬁﬁ?ﬁawﬁ%mmmwmﬂmm

1. Telegraph /%F‘ﬂ";ﬂﬂ?

2. Morpheme / =faq

3. Syntax / dIH] - o=y

4. Nested structure / ¢ 8 AT

Correct Answer :-

« Syntax / 919 - fa=OMg

5) X-ray radiation is attributed as the main cause of disorder. / m—%m Ca
IR % &I RV & U H AR sg™T AT 2|

1. Mongolism / Hinfered

2. Cretinism / CIGILE
3. Hydroephalus / CRIL

4, Microcephaly / aq&ﬂﬁm

Correct Answer :-

+ Microcephaly / aq&ﬂﬁm

6) Motivation is a state. / YOI U =_ufa %I
1. Psychological / EEICEIEEY
2. Physical / Hifd®

3. Natural/ W
4. Broken / Gf&d

Correct Answer :-



« Psychological / EEICRIIEED

7) Causes for learning disability is: / ST 3{&MHdT T HRUT BT &
1. Premature birth / 0T 9§ U,_:qc oIH

2. Malaria / AR

3. Class room environment / h &l d] II'I_EﬁT*[

4. Developmental problems / [d®™ e THw

Correct Answer :-

« Developmental problems / fd®r Tejeft Tomg

8) Which of the following is not a characteristic of authoritarian parenting? | Frafafea |

q HI-91 ST aTd! arer-uryor $1 fagiar =51 82

1. Highly punitive / AP TSTHD

2. Rigid / PR

3. Demanding of obedience / STRITHTRAT BT HIT

4. Provision of explanations for punishments / Il & foTT TWSHRT &1 Urae™

Correct Answer :-

« Provision of explanations for punishments / ISl & foTe TOPIHRu1 &1 Urae™=

9) Which of the following is not a type of long-term memory? / g 9 Q P Uh YbIR

#1 .o wfa 76 82

1. Procedural memory / WishaTcTd @jﬁf
2. Episodic memory / Ui {fdl

3. Semantic memory / 37T Wfd

4. Echoic memory / Ufdeafd ¥gfd

Correct Answer :-

« Echoic memory / Ufdeafd ®fd

10) Which of the following is not a substage of Piaget’s sensorimotor stage? / ﬁl’ﬁ'ﬁl’@ﬂ o3

PIF-971 Frare & sfasif=g THe rawT & SUSaXT 78] 8?2
1. Secondary circular reaction / oy Q?ﬂ'q 3171’@75]'[



2. Reflex activity / dgol JIIEIR

3. Primary circular reaction / PIIEES ?ﬁ'ﬁq &Hm
4. Seriation / P HGT

Correct Answer :-

« Seriation / hH&I

11) Identify the qualitative change in child development from the following list. A I IECE) '\‘]\'_cﬁ s
¥ 9191 faer ® quners ufvad &t ugaE HI

1. Weight / 991
2. Sight /¥
3. Hair / dTc]

4. Teeth / GId

Correct Answer :-

« Sight/Ef¥

12) An aptitude test measures a child’s ./ TP 17T URieor Udh CEkg - CIR LG %I
1. Knowledge gained over the years / 113\’ 9 § UTed I

2. Skills needed to solve problems / A3 P 8 B D fo saza® IR

3. Skills of critical thinking / ATAHTHS T BT BT

4. Innate ability to do certain tasks / P& DT DI DR B AT

Correct Answer :-
« Innate ability to do certain tasks / P& DT DI DR B GHAT

13) An effective way to combat stress in learners is by: / Rrenfat o ara | fAueq &1 T gUTAt
CREaRE

1. establishing routine / feTerat Rfd &
2. postponing all large tests for end of the year. / ot a@ TRTefuT &1 a8 & 3fd & fore Riffd &=

3. making strict rules / T fATH S

4. giving them the freedom to work whenever they want. / 38 S8 T8 BTH B B TSGI ¢ |

Correct Answer :-

« establishing routine / Tt ufig e



14) Which experiment had shown that phobia could be created by classical conditioning? AL T

TANT | a1 9aT ¢ & Faied b == gRT Wwifaar 91 faar o1 a&ar 82
1. Dynamical systems / TTfaI=iTe JomTe!

2. Egocentrism/ 3EH&alg (3MAfCoH)

3. Little Albert/ faifcd sreac

4, Epistemology/ SRRl (Qfﬁﬂ%‘lﬂ?ﬁﬁﬁ)

Correct Answer :-

. Little Albert/ fifed sreard

15) The child is able to lift its head first before it is able to crawl. This is because of the operation of:

/a¥fie & T A uge T=1 U1 R I3 A e g1 ¢ | T fy & Here & SRl o
1. Differentiation principle / VgHTd Rigid
2. Integration principle / U1 0 Rigid

3. Cephalocaudal principle / Ihdlhed 4 <id

4. Proximodistal principle / iRnHifewed Rigid

Correct Answer :-

e Cephalocaudal principle / IhdlhSd | AR

16) The children will learn through as per Vygotsky’s theory. / H'IETﬁT\‘W& & Rrgia &
IR g & TTAT | ST B3|

1. by observing / G PR
2. reading & writing / UghX 3R foraaR
3. society / HHISI

4. through books / &I & H1H I

Correct Answer :-
 society / JHISI

17) The intellectual disability resulting from Phenylketonuria can be minimized through: /

Pitabegar A IUH difa® faeaiar $f <gaau fFar o 9o s:
1. Social interaction / JTHTIH T

2. Classroom teaching / &l fRI&0T

3. Environmental factors / TUTGRUNY RSB

4. Progressive education / USRI RARIE]



Correct Answer :-

e Environmental factors / tmfawﬁcr DRD

18) When tests are given at the end of the semester, it is known as: / 91 JUER & 3id H qdievr fag

1. Summative Assessment / TR 3BT
2. Diagnostic Assessment / EIECARCaE]

3. Interim Assessment / 3dRH 3BT

4, Formative Assessment / TdATHD 3T

Correct Answer :-
o Summative Assessment / TR 3MHAT

19) When developmentalists study common changes that is typical to all humans, it is known as

./ 9 faeraard) amaa uRad= &1 sreaad sd 8, o St uge & e fafkiy 8, v sw
S EUATFETAEg]

1. Normative development / ﬁ%fQ]W IGEAR

2. Ideographic development / HIAJddH (3Tfeaniith ) famrd
3. Informal development / TR fawm

4, Formative development / NS fabT

Correct Answer :-

« Normative development / Ademds faeTg

20) Inclusive education aims to eliminate and ensure that all children get their right to

get educated. / THIAN RIS HTIT o) FATW S 3R T8 GRARE Fv1 R
& 9t 7= o1 37 Rféa s 1 PR yra 81|

1. Inequality / SIHHTAT

2. ChalIenge/ﬂzﬁT‘ﬁ

3. Problem / JHIT
4. Differences / 3R

Correct Answer :-

« Inequality / HHIACT



According to Orlich et al.(1985), which strategy fosters scientific thinking and the
enhancement of student problem-solving skills? 3R/ Te 3rd. (1985) F R, HIF-AT
U A W SN BT & THWT B YA & BN B d¢Tdl 22

1. Writing strategy/ [SECRERIIG
2. Oral discussion strategy/ {13 Tl Pt UM
3. Task card strategy/ B HIS I

4. Visualization strategy/ €Y It

Correct Answer :-

» Oral discussion strategy/ Afe® =i ot o

22) encompasses the idea of learning as an active process where those
learning are able to form new idea based on what their current knowledge is as well as

their past knowledge. / U Afepg ufhar & =u § SAftr & faar & gwifed sar g
W8T 4 HIEH aTd 37U IdHH 19 & A1Y-91Y 30 fIsd 319 & YR W ¢ far 991 & |am
T ¢l

1. John Dewey’s theory on constructivism / ﬁTIfUWI_c{ TR 19 34t &1 Rgid

2. Lev Vygotsky’s theory on constructivism / fAaiuae w a9 W &1 Rigid

3. Jean Piaget’s theory on constructivism / fmforare oR S oot &1 fRigia

4. Jerome Bruner’s theory on constructivism / fAHToraTE W oRM QR Rigid

Correct Answer :-

 Jerome Bruner’s theory on constructivism / fmtEE W SRM A pT Rigid

23) Educating special children along with the typically developing children in the regular
schools is ./ Frafta faereal & o dR W ferasfia a1 & 9ry-ary fay =) #
Rifdmee_ B

1. Individualized Education / safaaia fRrem
2. Normal Education / ITHT=T &
3. Special Education / fa= fRren

4. Inclusive Education / wré&ﬁ ﬁ[&ﬂ

Correct Answer :-

« Inclusive Education / THTaR e

24) Which of the following is unsuitable for a kinesthetic learner? / FUfaf@d & Q@ #1=-a1
TP Tfawad) Siftraeat & forg srguged &2



1. Providing them with opportunities to learn through activities. /3 Tfafafedl & AregH g
S{TRTH BT AR UG DT

2. Participation in field trips, drama, dance etc. / 833[ YHUT, FICh, I 3ffe o YT ST

3. Using concept mapping method for teaching. / W%ﬁlﬁ SR HHEU Ugld &l
SUINT BT

4. Using problem solving method for teaching. / fRr&oT o ferg T wHTe™ fafYy &1 ITahT B

Correct Answer :-

 Using concept mapping method for teaching. / &rﬁmﬂéﬁ'm SIYRUT HHEU Ugfd &1
SO HAT|

25) Which of the following is not affected by socioeconomic status? / Frafeafaa # @ s19-ar gmfee
e fRufer & gunfaa =&t giar 82

1. Choice of neighbourhood / q@ﬁﬂ DI UG

2. Quality of schooling / W‘ﬁ fRrem &t ora<d1
3. Gender / TeiTT

4. Nutrition / T[0T

Correct Answer :-

o Gender/ ﬁ’IT[

26) Which of the following is not a characteristic of explicit memory? / Fafafaa 7 9 F1F-G oy Wﬁf
o1 faar =t 82

1. Unconscious / 3/2d
2. Intentional / gfa=md
3. Awareness / SITRech dl

4. Recollection / TRUT fad

Correct Answer :-
« Unconscious / 3/d

27) Theory of connectionism was proposed by: / TaeiaIG $T fIgid 39% gRT Udiiad fear
T YT:

1. Skinner/m
2. Tolman / cIeTHA



3. Pavlov / OTddId
4, Thorndike / ISP

Correct Answer :-

« Thorndike / ﬂl-‘“l%%

28) Children can recognize themselves as whether they are a boy or a girl, at the age of

./ P 3T A T TWE B U 9P & [ 98 dSH1 8 °T asdl|

1. Five years / O CL

2. Four years / dIR CL
3. Three years / GIBECL]
4. Six years / T8 Y

Correct Answer :-

o Three years / GIBECL]

29) Who discovered classical conditioning which is a learning process governed by
associations between an environmental stimulus and another stimulus which occurs

naturally?/wmmﬁmﬁﬁwmmﬁw
ggﬁw%mwﬁmmmwmﬁm%ﬁﬁwm%wﬁ

1. Edward Thorndike / USTS UMSISH
2. Ivan Pavlov / 39 UrG@d

3. Wolfgang Kohler / BT BT
4. Jean Piaget/ Sit ot

Correct Answer :-
« Ivan Pavlov /33 Urgdid

30) Attention is the process of consciously focusing on a ./ STAYT (HT) LEGESUE

TR T Higd H1 P ufprar 21
1. Behavior / AdgR
2. Stimulus/Gé'q:i

3. Body language / HId R
4. Reaction / Ufdfehar

Correct Answer :-



o Stimulus / 8'5‘|E|=|

Topic:- General Hindi (L1GH)

1) 37T 3T @il P o AP & o/ g g &1 St a1d 6 vop aafa & o AT 81 9adll @ 98
<t gk & R oft o 81 9 o=t =1 | SereRur & o faslt 3 &1 fRmifor v Sahmufa & ford
fa®r 8 IPar g, Afek a8t 37 37 @t F o e aifad giar 8 o 39 87 & Fuwic thar A
frep1Rrd forar SITaT @1 3rerT 3rervT @il & ford AT &Y SreT 3o SiRed gidl @1 3§ SIevd 39 ofdd 1
gt ot aRfRufa & R gt 31 Seevur & R el gr g9 & 7iTa ® Y5 ardt 3t & oY et
TSH BT 1 fabTd 8 uHal 31 981 gat 3R, faeeht a1 gias A 5= a1t fpeht el & Ry At Y@ an
TR BT §9T fIPI 8 a1 g1 59 a8 9 AP & T 980 $I oevd Ul g o aiftre 3 siftre
RN ) WTaeT Ugd G& |

ufa cafe 3ma: frdt 3 &t oo Mg HY T8T BT STHEI A HIT 31 W S A et § S« ufa safad smy
Fgd &1 94 2006 #1 3y faery Ul & gaR HRa A ufa afds AramT 3ma 28,000 Tud 21 frsdt 3= &
S FA 3TA B GHdl APIA STE Fed ¢ | fordlt 31 # Ieuniea oo oma & @ Frafa & 919 arelt oma ot
U™ & 918 Sl 9941 § 3 IHd Ue SUIG $ed & | Ufd 1000 5171 T TH I $t 39 A Ugd WA a1dl
=il P G=I D) RIY G R Bed 81 98 SHipsT Rra= o1 &) e & =RHIor & Ia+1 € erest 4
1T 3| U8 Uh HEaqul TuTT 8 T sua et xr o Suasy wara giaemsit @) urawr 3k Sudstar
1 Ual gadr g1 ¥ 2011 Ft FTAUFT F AFAR URd H R g7 &% 30.15 31 oW 3R Afgar &1 srqgura:
Uid g9IR Toul @t ga- | aigarsit @1 W &1 {1 surd #ed 81 afe 98 sifdsI $9 gar s @ a8
Ture # wfgensit & faare vafea arfiear $f gxifar 81 af 2011 # SROAT & FER HRA A fof
Ut Ui TR goul @1 ga-n | 940 afyensii #t g1

ST TR $ UgH - T T U= $T I«ik qarsy|

wz: af 2006 FI fay fae™y R & oaR uRa & wfa safes wrern sma fast 32
1. 28,000 3T

2. 30,000 BT

3. 35,000 30

4. 25,000 9

Correct Answer :-

. 28,000 SUY

2) 3T AT AN P ol fap & a1 96y g &1 it 91a foreft vep aufea & o fae 8 gl @ a8
5t gk & o ot o 81w =) =1 | SereRur & o fasdlt 3w &1 fRfor wes Sahmufa & ford
PRI &) Todr 8, AP a8 30 39 drif ¥ R A ifda a1 & R SU 80 & Sadc thar @
fArep1Rya farar SITar 81 3rerT SrerT i & ford AT &Y SreRT 3relT Sievd gl €1 3 SIevd 39 aufad &t
Rt ot aifRufa & orgarR g1t 31 Semevur & o {6t gr o= & 7ifq | vg+ a1d St & o ugast
TSH BT 1 a5 8 uHar 1 981 gadt 3R, faeeht a1 gias A 5= a1t fpeht aratft & Ry Ay Y@ an
THRIUHA BT g7 fahTH 81 Pl 31 39 938 § fapTa & X 98y $t wievd Usdl ¢ o it 9 siftre
RN Y BRIGT UgT P |

wfa cafe 3ma: frdt 39 &t oo Mg Y I8T BT TS A HIT 31 W S AR et § 39 ufa safad sma
Fed 81 99 2006 1 fay e frulé F sgarR yra § ufa afed ararn ma 28,000 $ud 31 fwdt 3= A
ST FA 39 B FHdl APIA STG Fed & | forelt I # Ieuniea oo oma & @ Frafa & 919 areht oma ot
e & 91¢ Sl 9941 § 3 JHd URe IUTG $ed & | Ufd 1000 9171 H TH T $t 3Y A Ugd WA ardl
=] P G= D) RIY Gog X Bed 81 98 SHipsT Rra= o 8 e & =Re1o & Ia+1 € eresT 4T
WTaT 81 98 TS Hgayut 30T § i sud fnedt 31 A Suasy wara glaursit &1 quraw ok Iudsar



BT Udl 9T 8| a9 2011 BT FTUMT & AR YR | R3] 97 <X 30.15 31 T3 3R Afgar o1 srgura:
Ufd e9IR Toul &t ga- o aigansit @1 Wen &) T srqurd #ed 81 afe 98 eI sU gar s @ a8
TuTer ¥ gfgarsit & e wafea amfiea & gxifar 81 af 2011 # SHI0MT & AR YR | foimT
ST Ufd e9TR Goul &1 ga1 # 940 Afgansii ot g1

IUY T TR P UG 1Y YD T U= P Sk qarse|
TR: Wl ¥l 3R TaIORIa &1 1Y, §=1 w0 | fg firear 272
1. 101 ST aTell Bl

2. UGTS! Sdloh dTell ol

3. SITc H Xg- dTell &l

4. 93 T & FRaril &)

Correct Answer :-
. 93 e & Fariy

3) 3T T At & o fara & srenT @gd gha &1 < a1a frelt v aufea & o R Y i 3 a8
P g & R i faera 81 95 S==81 7811 Iarerur & ford st S 1 o v Seirufar & R
T &) gear 8, TP a8 30 37 A & o fIamere R wifard gar @ R 9 30 & Pafic tRar @
frep1Rya foram SITaT 81 SrenT SrenT At & o fapRT FY ST ST wiveva gidl 81 3 ewd 39 aufa &l
Rt &t aifRufa & orgarR g1t 31 Seerur & ford il gr a1 & Wifa | vg+ a1dt et & o ugast
TSP T 911 fIHTH g1 Tdhal g1 981 gul iR, faeeht a1 grag o g+ ara fodt st & o Aet ¥a an
TR BT 41 fIBRI §) THdT1 31 3 e A e F TN 7987 B wIewd usdt ¢ Forad iftre & siftres
RN Y BrIGI UgT P |

ufa safet sma: forsdt 31 9 T 3 &) 98T F SF=H=T ¥ HRT 37 wR it Afy et § 3/ ufa safad sma
Fgd g1 af 2006 1 fay fawra Ul F SR YRa A ufe safes TramT 3ma 28,000 Tud g1 fHeft a=r o
AT P 3T DY el APIA STE Ped ¢ | fordt 3z # Ieunfea oo oma § A Frafa @ 919 areht oma ot
U & 918 Sl 9941 § S TP T U9 SUTG $ed 8 | Ufd 1000 51 ¥ TH T $ 39 A Ugd WA a1dl
ol B Ten &1 RAIY] g 5% Fed 81 98 sifwst Ra-n w1 §) e & eReior 3 3a-r & srat amn
STaT 81 98 TP Hg@yu! 30T § i 5o fnsdt 31 A Suasy wara glaursit &1 quras $iv Iudsar
BT UdT IadT 8| a9 2011 BT FTIUMT & IR YR & R3] 97 <X 30.15 31 T3 3R Afgar o1 srgura:
ufd g9IR 7ol @t ga-T o afgarsit @1 We @) T srqurd #ed 81 afe 98 siiesI su gar s @ a8
TuTe ¥ gfgarsit & e wafea amfiea & gxifar 81 a9 2011 # SHIUMT & AR YR § fiT
ST Ufd e9TR Goul &1 ga1 § 940 Afgansii @t g1

IU T TR P UG 1Y YD T U= $T Sk qarse|

UR: X1 B TRy Jlaurs Y urar 3R IuAar &1 Uar fFa g 8?2
1. RYgqgRA

2. S0 Y IS gl

3. 3 ST o] T H

4. g9 ¥

Correct Answer :-

- Rygwa



4) 3T AT AN F o faprT & ST g g1 &1 ot 91a f5ft vop aufda & ford oy gl woet @ @8
it g & R oft fay ) g o=t 1811 Ierevur & R fpeft S0 &1 fFmfur v Sehmufa & o
fara 8 oar 8, AfP a8t 39 39 @ & o At wnfad giar @ o Su 80 & e ehar @
e RRra forar SITar 81 3reT SrerT @i & o fAp T Y et ieiT Svevd gid &1 3 SRevd 39 AfRT $I
Rigth & IR F IFaR 1 31 Ieeww & R fhft g oo & g § v ara st & R vaa
TSP T 9411 AP g TPl g1 981 gusl iR, faweht a1 grag o ve= aral fonsdt snmetht & o Ae Ya an
THIUHA BT 997 fapTH 8 IPdl 81 39 938 4 [T & U 9ey F sevd Usdl ¢ o it 9 siftre
NI ) WTaeT Ugd & |

wia aafad oma: foadt A=T 3t T T B IgT B TTHSIT A U 37 W N 7 freredt @ 39 wfa safaa sma
Fgd g1 T 2006 1 fay fawr Ul & SR YRa A ufa safea aram™T 3ma 28,000 Tud g1 fHedt ¢z o
S $ A B GHdl APIA STE Fed ¢ | fordlt 3= # Ieunfea oo oma & @ Frafa & 919 areht oma o1
UM & 91¢ o) 9941 8 39 Iod WY IdTE Had 2 | 7fd 1000 579 § T A1d &1 39 | Ugd WA
Tl D1 IET B Y g X Fed 8| 98 iTpsT a1 $4 g e & RHI0r I I & srs1 urn
STdT 81 98 U He@yu! G0 § i sud fonedt 31 A Suasy wara giaursii @1 uraw $iv Iudsuar
1 Ual gl 81 ¥ 2011 Ft FTAUFT F TR URA A R g7 % 30.15 31 oW 3R Afgar &1 srura:
ufd e9IR Toul &t ga-1 § affarsit &) Wen @) i srqurd @ed 81 afe us sifes! 49 glar s @ a8

U § gigareit & e yafia amRiea & gxifar g1 a 2011 F ST & AR YR | T
Ut Ui IR Goul #1 ga-1 & 940 qfyenaii &t g1

S T B UGHR - I T YA BT Ik 13T
TS UFBt WS P a1 [bd e wet urm § fywr 82
1. Q-GS & o & forw

2. AETR AR & forg

3. STOIR dTal o ferg

4. I 9Tl & forw

Correct Answer :-

. QRGN o UTHIN o ferg

5) 3T 3T AN & Rl farry & 3rerT @6y 81 &1 =i a1a forelt vep aufad & o fa &Y gl @ a8
ol g & R oft farr ) g o=t 18| Srevur & R fpeft S0 &1 fmfur v Sehmufa & o
fara 8 goar 8, AP a8t 39 39 @ & o At wnfad giar @ o Su 80 & dadc ehar @
e RRra forar SITar 81 3reT 3rerT @i & o AT P et 3renT Svevd gl &1 3 SRevd 39 aAfaT P
Rigth & IR F JFaR 1 81 Ieeww & R fhft g oo & g § v ara st & R vaa
TSH BT 1 fIBTd g1 Iwar 1 981 gort o, faeett a1 gias A g+ a1 fpeht aretft & Ry Ay Y@ an
THIUHA BT 997 fahTH 8 APl 81 39 a8 4 faTa & U 9ey F sievd Usdl ¢ o oftre 9 siftre
NI ) WTaeT Ugd & |

wia aafaa oma: foadl AT 3t T Mg B IgT B FTTHST A U 37 W N A7 frerdt @ 39 wfa safaa sma
Fgd g1 af 2006 1 fay fawra Ruld & SR yRa A ufa safea aramT 3ma 28,000 T 81 fHedt ¢z o
ST FA A S GHdl APIA STE Fed ¢ | fordlt 3= # Ieunfea oo oma & @ Frafa & 919 areht oma ot
UM & 91¢ o) 9941 8 39 Iod WY 3G Had 2 | U4 1000 9 F T I1d &1 39 | Ugd WA ard
Tl D1 TEI B Y g R Fed 81 98 iTpsT a1 $4 g ey & RHIvr & I & sres1 urn
STAT 81 98 U He@yu! G0 § i sud fonedt 31 A Suasy wara giaursii @1 urawr $iv udsuar
BT Ual gl 81 ¥ 2011 Ft FTAUFT F AR URA A R g7 % 30.15 31 oW 3R Afgar &1 srura:
Uid g9IR ToUl @t ga-1 § aigarsii &1 Wi &1 T 3urd Fed 81 afe 98 sifdsI 49 gar s @ a8

T ¥ gigareit & e yafia amRiea & gxifar 81 a9 2011 F ST & AR YR | T
3UTd ufd g9k goul 3t ga-1 & 940 Afgarsi it g1

IUYT TR B UGHR A4 I 7T U $T Ik 94151



W: Ui 1000 90 § TS A1 31 IH I Ugd A aTdt Il D1 TG BT FIT Fgd 62
1. RIYgag R

2. QAT TG R

3. WA G R

4, IO GG &

Correct Answer :-

6) 3T 3T AN & ol fary & 3T @6y g1 &1 =i a1a forelt vep aufe & o far &Y gt @ a8
ot g & o oft ey &) g o=t 1811 Ierevur & o fpeft S0 &1 fFmfur v Sevmufa & o
fara 8 gorar 8, Afp a8t 39 39 @ & o et wnfad gar @ o Su 80 & dadc ehar @
frep1ira forar SITaT 81 3reRT 3rertT @il & ford fapTT &Y ST 3renT siRewd gl €1 3 SIevd 39 afad Bt
Rigth & TR & JFaR e 81 Ieeww & R fpdt g o & g § v ara st & R vaa
TSP T 9411 fIHTH g TPl 21 981 gusl iR, faweht a1 grag o ve= ara fodt snetht & o A Ya an
THIUHA BT g1 fapTH 8 9Pl 81 39 a8 4 fapTa & U 98y F sievd Usdl ¢ o it 9 siftre
W Y WIS Ugd A |

ufa afdT ama: fordft A &t Fa Mg B I8T B THE A U 37 W S ARy et 3 39 ufa safe sma
Fgd g1 I 2006 1 fay fawra Ui F SR yRa A ufe safea ara™T 3ma 28,000 $Ud g1 fHedt ¢z o
SAGd T T B Thel AP IATE $od ¢ | fH <=1 F Iarfea g ema & A Frafa @ g4 areht oma a1
UM & 91¢ o) 9941 8 39 IPhd WY IdTE Had 2 | 7fd 1000 9 § T A1d &1 39 | Ugd WA ard
Tl D1 TET B Y g X Fgd 8| 98 iTpsT a1 74 g e & RHivr & Ia= & srs1 urn
W11 3| U8 Uh HE@yUl TUTT 8 Fife 3uw et ¢xr o Iuasy wara giaemsit @Y urawr 3R Suestar
1 U1 IaaT 81 99 2011 BT STRIUFT F AR HRd | Y] 97 &% 30.15 71 G 3R AT &7 Sgura:
wfd IR goul 3t ga-n # afgarst @1 den o1 o srura sgd 1 afe gg sifest 4 gar @ @t g8

T § gigarei & e yafia amRiea & gxifdr g1 a9 2011 $ SHIUMT & SER YR | T
SUTd Ufd g9IR Goul 3t ga-1 & 940 Afgarsi it g1

S T B UGHR - I T YA BT I<ik 3T
u: fHelt ¢z o Iaurfed $a oma & T HEd B2

1. Gl P IdTE

2. 9 d O fad™

3. Yobel TR 3

4. ghd (b R

Correct Answer :-

. YDHd AP IS

7) SIS AT A & R faprT & 3re @gy gid &1 < a1a fhlt uep safaa & ford faora ot aoelt @ 9@
ot g & o oft fary ) g o=t 1811 Iarevur & o fpeft S &1 fmfur v Ievmufa & o
faeTa 8 gar 8, Afe 9 30 39 A F ford faArre T Tifaa gar @ o 99 S0 & Fewie thar @
frep1ira fpar ST 81 3T 3rerT AN & ford fAPIRT P 3erT et SiRevd gl &1 4 SIevd 39 aafad Bl
Rigth & R & JFaR e 81 Ieeww & R fhdt gr g & g § v arat st & R vaa
TSP T 911 fIHTH g TPl 21 981 gasl iR, faweht a1 grag o vg= ara fodt st & o A Ya an



TRIUA BT 91 fAPTH gl TPl g1 39 avE 4 [P & TH 987 B! oRevd Usd! ¢ forad 3ifre & ot
RN B BRIGI UgT P |

wfa cafe 3ma: frdt 3T &t Fa Mg B T8T BT STHEI A HET 31 W S AR et § 39 ufa safaqd sma
Fgd g1 af 2006 1 fay fawra ol F SR yRa A ufa safe aramT 3ma 28,000 Tud B1 fHeft q=r A
S FA 39 B FHdl APIA STG Fed & | forelt 3= # Ieunfea oo oma & @ Frafa & 919 areht oma ot
U™ & 91¢ Sl 9941 § 3 IHd URe IUIG $ed & | Ufd 1000 5171 T UH I $t 3U A Ugd WA ardl
i B T P RIY T I Fed 2| 98 i1 a1 o g fFery & eRaor @ Ia1 & sres1 °r7
1T 3| U8 U HEaqul TuTT 8 T sua fhelt v o Suasy wara giaemsit @) qurawr 3k Sudstar
BT U1 Iadl 21 9 2011 Pt THIUMT & AR YR § R g o 30.15 81 TS 3R Afan &1 3rgurd:
Uid g9IR Toul @t ga- § aigarsit @1 We &1 {1 surd #ed 81 afe 98 siidsI $U gar s @ a8

T # wfgensit & faare vafia arfiear $f gxifar 81 af 2011 # SR0AT F FER HRd A fo
Ut Ui g9R goul @1 gann | 940 afyensit #t g1

ST TRl $ UgH - D T Y= $T I«ik qarsy|

W: qf 2011 F FTOFAT F IFEAR YR A R g7 o2 fpait @2
1. 40.12

2.30.15

3.12.30

4.35.12

Correct Answer :-

e 30.15

8) 3ET 3 AN & ford fasTT & 3rerT @ed gia &1 <) a1d fonvdt v aafe & Rl i Y Il @ 98
5t gk & R oft o 21 9 o) =1 | SereRur & o faslt 3 &1 fRmfor wes Sahmufa & ford
PRI &) TPar 2, AP a8 30 39 drif ¥ R Ramrer ifea a1 & R Su 80 & Sadc thar @
freep1Rya farar SITar 81 3rerT 3rerT i & ford AT &Y 31T 3relT sieed gl €1 3 SIevd 39 aufad &1
Rt ot aifRufa & orarR g1t 31 Serevur & ot i gr a1 & 7ifa | ve+ a1d St & R ugast
TSH BT 1 A5 8 uwar 81 981 gadt 3R, faeeht a1 gias A 5= a1t fpeht arratft & Ry Ay Y@ an
THRIUHA BT g7 fahTH 81 Pl 31 59 938 4 fapTa & WX 98y $t wievd Usdl ¢ o oiftre 9 siftre
RN P BrIGI UgT P |

ufa safet sma: forsdt 31 9 Fd My &) 98T F SH=IT ¥ URT 37 WR it Afy et § 3/ ufa safad sma
Fgd g1 af 2006 1 fay fawra Ul F SR yRa A ufa safe TraT 3ma 28,000 Tud 21 fHeft Sz o
S FA 3TA B FHdl APIA STG Fed & | foredt 31§ Ieunfea oo oma & @ Frafa & 919 areht sma ot
e & 918 Sl 9941 @ S JHd Ue IUTG $ed & | Ufd 1000 =1 H TH I $t 3Y A Ugd WA a1dl
=il B TOI P RIY g 3 Ped 2| 8 i1 a1 $ gt I & RS0 A Ia- & eres1 a1
WTaT 81 98 TS Hgayu! 30T § i sud fnedt 31 A Suasy wara glaursit &1 quraw ok udsuar
BT Udl 9T 8| 99 2011 BT FTIUFT & IR YR | R 97 ¥ 30.15 g1 T3V 3R Afgar o1 srgura:
ufd e9IR Toul @t ga-T § aigarsit &1 Wen &) T srqurd #ed 81 afe 98 siivsI $U gar s @ a8
Ture # wfgensit & faare vafea arfiear o gxifar 81 9 2011 F SR0AT & AR HRd A for
3UTd ufd g9k YUl $t ga-T1 & 940 Afgarsi i g1

ST TRl F UgH - U T U= T &k qarsy|

T Ufd g9k U9 Ul 3t ga- A afdarsi & Ien o |1 Fd 82
1. TR TS

2. 3{Id 3T

3. foivT arqura



4, SR BT STGBAT

Correct Answer :-

- fofwr srgura

9) 3T A AN & ford fasTa & 3rerT @ed gia &1 <) a1d ford) v afe & Rl i 8 Il @ 98
5t gk & R oft o 81 9 o=t =1 | SereRur & o fasft 3 &1 fRmfor wes Sahmufa & ford
PRI &) TPar 2, AP a8 30 39 drif ¥ R Ramer wifda a1 & R 59 80 & Sadic thar @
fArep1Rya farar SITar 81 3rerT 3rerT i & ford AT &Y ST 3ol ieed gl €1 3 SIevd 39 aufad &1
Rt ot aifRufa & orgarR g1t 31 Serevur & ford il gr a1 & 7ifa | vg+ ard et & R ugast
TSP T 911 fIHTH g1 TPhal g1 981 gul 3R, faeeht a1 grag o g+ ara fodt snetit & o Aet ¥a an
TIUA $T 991 (AP &1 Gl 81 59 a¥e 4 fapTd & T 96T F oievd usd! g o aiftre 9 it
RN B BrIGT UgT P |

ufa safet sma: forsdt 31 9 T 3y &) 98T F SH=IT ¥ URT 37 wR it Af et § 3/ ufa safad sma
Fgd g1 af 2006 1 fay fawra Ul F SR yRa A ufa safe TramT 3ma 28,000 Tud B1 fHeft Sz o
AT P 3T S bl APIA STE Pod ¢ | forddt 321 § Ieunfea oot oma § A Frafa @ 919 arelt sma &t
e & 918 Sl 9941 § S JHd Ue IUTG $ed & | Ufd 1000 =1 H TH I $ 3Y A Ugd WA ar1dl
=il B TOI P RIY g 3 Ped 2| 8 i1 a1 $ gt I & RS0 & I & eres1 a1
STdT 81 98 TS Hgayut 30T § i 5o fnsdt 31 A Suasy wara glaursit @1 quraw ok Sudsuar
BT UaT IadT 8| a9 2011 BT FUMT & AR YR | R3] 97 <X 30.15 g1 T3V 3R Afgar o1 srgura:
ufd e9IR 7ol @t ga-T o aigarsit @1 Wen &) i srqurd #ed 81 afe 98 siivsI Fu gar 3 @ a8
TuTe ¥ gfgarsit & e wafea amfiea & gxifar 81 a9 2011 F SHIUMT & AR YR § fiT
3UTd ufd g9k YUl $t ga-T & 940 Afgarsi i g1

ST TRl H UgH - U T U= $T I«ik qarsy|

T TP & fore fan ma fyera @ ga & forg oft faera € g @2
1. Yy

2. 919:

3. 776l

4. Bl

Correct Answer :-

10) 3T 3T AN & o e & ST ed B €1 =il a1 faveft v aafea & ford faer< & wapelt @
9% 53l gk & R ff far 2t g o==dt 81| SereRur & ford it 3 &1 fmfur e Savfe & ol
fAPrT &) TPdr 2, AP 981 30 39 dril ¥ R e wifda a1 & R 35U 80 & Sadc thar @
frep1Rya farar SITar 81 3rerT 3rerT i & ford fApTRT &Y 31T 3renT SiReed gl €1 3 Sievd 39 aufad &1
Rt ot aifRufa & AR g1t 31 Serevur & o {6t gr a1 & Wifq | vg+ a1d SieHt & R ugast
TSH BT 1 A5 8 uHal 1 981 gadt 3R, faeeht a1 gias A 5= ardt fpeht aratft & Ry A Y an
TN BT g7 fahTH 81 Pl 31 39 938 | fapTa & X 98y $t wievd Usdl ¢ o it 9 siftre
RN Y BRIGI UgT P |

ufa afeT 3ma: frdt 3 &t oo Mg Y T8T BT STHEI A HIT 31 W S AR et § 39 ufa safad sma
Fed 81 99 2006 F fay fyera frolé & sgaR yRa § ufa afed e ma 28,000 $u 31 fwdt A= A
S FA 3TA B FHdl APIA STE Fed & | foredt I § Ieunfea oo oma & @ Frafa & 919 areht oma ot
e & 91¢ Sl 9941 § S IHd Ue IUTG $ed & | Ufd 1000 9171 T TH I $t 3U A Ugd WA ardl
i B T P RIY TG 3 Fed 2| 98 i1 a1 o1 g ey & eiRaor & Ia1 & a1 97



W11 3| U8 Uh HE@yUl TUTT 8 Fife 3uw fhedt ¢z o Iuas Tara giawnsii @t urawr 3R Suestar
1 U1 IaT 81 99 2011 BT STRIUFT $ IR HRA | Y] 97 &% 30.15 81 G 3R AfaAT1 &7 gura:
wfd g9k goul 3t ga-n # afgaret @t Jen o1 i srura sgd 1 afe gg sifest w0 gar @ @t a8
gaTe ¥ Aigars & Gare yafea amtiear @1 giidr g1 9§ 2011 $ F0FT F IFAR YR § T
SUTd Ufd g9IR Goul 3t ga-1 & 940 Afgarsi 3t g1

ST TR P UGHR 12 IR T U= $T Sk ga1s¢|
UH: SRIUET ST Mised 3 Far 82

1. T A PIS a1

2. BT HI&R Tidl bt TUHT

3. S &1 A UM

4. RIS AR &b} UM

Correct Answer :-

. SR AT B IO

11) 3T 3T ARN & ford faeTa & ST ed gia €1 it a1 fhedt v aafaa & ford fawr gt 9t @
T8 foelt g & o oft v 81w o=t =161 | Sererur & o fondt Sw &1 fAmafor v Sevmufe & R
faeTa 8 gar 8, afe 9 30 39 A F ford AT Tifaa gar @ o 99 S0 & Fewe thar @
frep1ira fpar ST 81 3T et AN & ford fAPIRT P 3IerT et SiRevd gl &1 d e 39 aafad Bl
Rigth & IR & SFaR 1 21 Ieewu & R fbedt g G & Tifa # v aral emet & R vee
TSP T 9411 AP g TPl g1 981 gasl iR, faweht a1 grag o ve= ara fodt snmetht & o A Ya an
THUIA FT 9941 [P 8 Gl 81 59 ave A fapT & U 467 F oievd usdl 8 o siftre 9 it
NN 1 BTaS UgT Wd |

ufa afdT ama: fordlt AT &t oo Mg Y I8T B THE A U 37 W S ARy et @ 39 ufa safe sma
Fgd g1 a9 2006 I fay fawra Ui F SR YRa A ufe safea ara™T 3ma 28,000 $Ud g1 fHedt ¢z o
ST T 3T PY THA AFR TG Fod ¢ | frel o1 & Ieunfed ot oma & § frafa & 17 areht sma #1
UM & 91¢ o) 9941 8 39 IHd WY SATE Had 2 | 7fd 1000 79 § T A1d &1 39 | Ugd WA ard
ol B T= B RAIY] g 3R Fed 81 98 sifest Ria-n 71 8) e & eRwior ¥ 3a-r & st amn
1T 8 | U8 Uh HE@yUl TUTT 8 Fife suw fhedt ¢x1 o Iuasy Tarra giaensit @t urawr 3k Suestar
1 U1 IaaT 81 99 2011 BT STRIUFT F IR HRd H Y] 97 &% 30.15 81 G 3R AT &1 Sgura:
wfa IR goul 3t ga-n # afgaret @t Jen o1 o srura sgd 1 afe gg sifest 4 gar @ @t g8

T § gigarei & e yafia amRiea & gifar g1 a6 2011 $T ST & AR YR | T
SUTd Ufd g9IR Goul 3t ga-1 & 940 Afgarsi 3t g1

Sue T B TgHy H2 T T U BT I« TS

WRA: [Pt 3 FY T 3y B TET I THET F UFT A W S A et & S/ 71 Fed 82
1. 3NTH IATe

2. Ufd afek oma

3. SGRIBRUT

4. Fohdl O IMTG

Correct Answer :-

. Ufdafad s



12) 3T 3T ANT & ford fapT & 3rerT gy gl €1 5 91 it ver aufda & ford farry € 9opell 8
T8 fodll g & o oft fapry 81 g o=t 811 Seerur & i fhlt 30 &1 fAwfor was Seavufa & o
fara 8 oar 8, AfP a8t 39 39 @ & o At wnfad giar @ o Su 80 & dadc ehar @
e RRra forar SITar 81 3reT SrerT @i & o fAp T Y et ieiT Svevd gid &1 3 SRevd 39 AfRT $I
Rigth & IR F IFaR 1 31 Ieeww & R fhft g oo & g § v ara st & R vaa
TSP T 9411 AP g TPl g1 981 gusl iR, faweht a1 grag o ve= aral fonsdt snmetht & o Ae Ya an
THIUHA BT 997 fapTH 8 IPdl 81 39 938 4 [T & U 9ey F sevd Usdl ¢ o it 9 siftre
NI ) WTaeT Ugd & |

wia aafad oma: foadt A=T 3t T T B IgT B TTHSIT A U 37 W N 7 freredt @ 39 wfa safaa sma
Fgd g1 T 2006 1 fay fawr Ul & SR YRa A ufa safea aram™T 3ma 28,000 Tud g1 fHedt ¢z o
ST F 3TA B GHdl APIA STE Fed ¢ | fordlt 3= # Ieunfea oo ma & @ Frafa & 919 areht oma o1
UM & 91¢ o) 9941 8 39 Iod WY IdTE Had 2 | 7fd 1000 59 F T A1d &1 39 | Ugd WA ard
Tl D1 IET B Y g X Fed 8| 98 iTpsT a1 $4 g e & RHI0r I I & srs1 urn
STdT 81 98 U He@yu! G0 § i sud fonedt 31 A Suasy wara giaursii @1 uraw $iv Iudsuar
1 Ual gl 81 ¥ 2011 Ft FTAUFT F TR URA A R g7 % 30.15 31 oW 3R Afgar &1 srura:
ufd e9IR Toul &t ga-1 § affarsit &) Wen @) i srqurd @ed 81 afe us sifes! 49 glar s @ a8

U § gigareit & e yafia amRiea & gxifar 81 a 2011 $ ST & AR YR | T
SUTd Ui R Goul #1 ga-1 & 940 qfyensii &t g1

IUYT TR B UGHR 14 I 7T U $T Ik 9415
U= fdt 3w A Iannfea oar oma # | frafa F €19 arelt oima & ge & 1e il 9UdT 3 99 T HEd 82

1. el R Y
2. Ghdl O I
3. Yobdl TR 3
4, HA I A

Correct Answer :-

. Dhd I WG

13) 3T 3T ANT & ford fapT & 3rerT gy gl €1 5 91 i) ver aufda & ford fary € wopell 8
9 fordlt gk & o ot fara 81 I o_et =181 | Sarerur & R et Sw &1 fFmifor g el & ford
fara 8 goar 8, AfP a8t 39 39 @ & o et wnfad giar @ o Su S0 & dadc ehar @
e RRra forar SITar 81 3reT 3rerT @i & o AT P et 3renT Svevd gl &1 3 SRevd 39 aAfaT P
Rigth & IR F JFaR 1 81 Ieeww & R fhft g oo & g § v ara st & R vaa
TSH BT 1 fIBTd g1 Iwar 1 981 gort o, faeett a1 gias A g+ a1 fpeht aretft & Ry Ay Y@ an
THIUHA BT 997 fahTH 8 APl 81 39 a8 4 faTa & U 9ey F sievd Usdl ¢ o oftre 9 siftre
NI ) WTaeT Ugd & |

wia aafaa oma: foadl AT 3t T Mg B IgT B FTTHST A U 37 W N A7 frerdt @ 39 wfa safaa sma
Fgd g1 af 2006 1 fay fawra Ruld & SR yRa A ufa safea aramT 3ma 28,000 T 81 fHedt ¢z o
ST FA A S GHdl APIA STE Fed ¢ | fordlt 3= # Ieunfea oo oma & @ Frafa & 919 areht oma ot
UM & 91¢ o) 9941 8 39 Iod WY 3G Had 2 | U4 1000 9 F T I1d &1 39 | Ugd WA ard
Tl D1 TEN B Y g X Fed 81 98 iTpsT a1 $4 g ey & RHIvr & I & sres1 urn
STdT 81 98 TP He@yu! G0 § i sud fonedt 31 A Suasy wara giaursii @1 uraw $iv udsuar
1 Ual gl g1 ¥ 2011 Ft FTAUFT F ATAR URA A R g7 % 30.15 31 ToW 3R Afgar &1 srqura:
Uid g9IR ToUl @t ga-1 § aigarsii &1 Wi &1 T 3urd Fed 81 afe 98 sifdsI 49 gar s @ a8

T ¥ gigareit & e yafia amRiea & gxifar 81 a9 2011 F ST & AR YR | T
3UTd ufd g9k goul 3t ga-1 & 940 Afgarsi it g1

IUYT TR B UGHR A4 I 7T U $T Ik 94151



I FH IR Ig X 31 e & 0= W ST 41 ot 82
1. 3<dT
2. 3Td

3.
4. QAT

Correct Answer :-

14) 3T AT ANT & ford fapTa & 3rerT gy gl €1 ) 91 it ver aufda & ford fawery € 9opell @
T8 felt g & o oft T 81 s ot =18 | Serevur & o fondY Sw &1 fRmafor v Servmufe & o
fara 8 gorar 8, AfpT a8t 39 39 @ & o Azt wnfad gar @ o Su 80 & e ehar @
frep1ira forar SITaT 81 3reRT 3rertT @il & ford fapTT &Y ST 3renT siRewd gl €1 3 SIevd 39 afad Bt
Rigth & TR & JFaR e 81 Ieeww & R fpdt g o & g § v ara st & R vaa
TSP T 9411 AP g TPl 21 981 gasl 3R, faweht a1 grag o vg= ara fodt enmetht & o A Ya an
THIUHA BT 991 fapTH 8 APl 81 39 938 4 [T & R 98y F sevd Usdl ¢ o oftre 9 siftre
W Y WIS Ugd A |

ufa afdT ama: fordft A &t Fa Mg B I8T B THE A U 37 W S ARy et 3 39 ufa safe sma
Fgd g1 I 2006 1 fay fawra Ui F SR yRa A ufe safea ara™T 3ma 28,000 $Ud g1 fHedt ¢z o
SAGd T T B Thel AP IATE $od ¢ | fH <=1 F Iarfea g ema & A Frafa @ g4 areht oma a1
UM & 91¢ o) 9941 8 39 IPhd WY IATE Had 2 | 7fd 1000 9 § T I1d &1 39 | Ugd WA ard
Tl D1 TET B R g X Fgd 81 98 iTpsT a1 74 g ey & RH1ivr & Ia=r & srs1 urn
W11 3| U8 Uh HE@yul TUTT 8 Fife 3uw fhedt v o Iuasy warra giaensit @Y urawr 3R Suestar
1 U1 IaaT 81 99 2011 BT STRIUFT F AR HRd | Y] 97 &% 30.15 71 G 3R AT &7 Sgura:
wfd IR goul 3t ga-n # afgarst @1 den o1 o srura sgd 1 afe gg sifest 4 gar @ @t g8

T § gigarei & e yafia amRiea & gxifdr g1 a9 2011 $ SHIUMT & SER YR | T
SUTd Ufd g9IR Goul 3t ga-1 & 940 Afgarsi it g1

S T B UGHR - I T YA BT I<ik 3T
W: ST ATl & o s @6g &4 gid 82

1. Th JHH

2. WA

3. 3{eTTT-3feT

4, Fi

Correct Answer :-

o SICT-3cTT

15) 3T 3T ARN & ford fawTa & ST 1ed gia €1 <t a1 fhedt v aafaa & ford fawr gt 9t @
T8 foelt gt & R oft i 81 9 o=t =18 | Sererur & o fondt Sw &1 fAmator v Servmufe & R
faeTa 8 Tar 8, aAfea 9 30 39 A F ford faar=re T Tifaa gar @ o 99 S0 & Fewe thar @
frep1ira fpar ST 81 3T 3rerT AN & ford fAPIRT P 3erT et SiRevd gl &1 4 SIevd 39 aafad Bl
Rigth & R & JFaR e 81 Ieeww & R fhdt gr g & g § v arat st & R vaa
TSP T 911 fIHTH g TPl 21 981 gasl iR, faweht a1 grag o vg= ara fodt st & o A Ya an



TRIUA BT 91 fAPTH gl TPl g1 39 avE 4 [P & TH 987 B! oRevd Usd! ¢ forad 3ifre & ot
RN B BRIGI UgT P |

wfa cafe 3ma: frdt 3T &t Fa Mg B T8T BT STHEI A HET 31 W S AR et § 39 ufa safaqd sma
Fgd g1 af 2006 1 fay fawra ol F SR yRa A ufa safe aramT 3ma 28,000 Tud B1 fHeft q=r A
S FA 39 B FHdl APIA STG Fed & | forelt 3= # Ieunfea oo oma & @ Frafa & 919 areht oma ot
U™ & 91¢ Sl 9941 § 3 IHd URe IUIG $ed & | Ufd 1000 5171 T UH I $t 3U A Ugd WA ardl
i B T P RIY T I Fed 2| 98 i1 a1 o g fFery & eRaor @ Ia1 & sres1 °r7
1T 3| U8 U HEaqul TuTT 8 T sua et xr o Suasy wara giaemsit @) urawr 3k Sudstar
BT UdT Iadl 21 9 2011 Pt THIUMT & AR YR § R g & 30.15 81 TS 3R AfFan &1 3rgurd:
Uid g9IR Toul @t ga- § aigarsit @1 Wem &1 {1 srurd #ed 81 afe 98 siivsI $U gar s @ a8

T # wfgensit & faare vafia arfiear $f gxifar 81 af 2011 # SR0AT F FER HRd A fo
Ut Ui g9R goul @1 gann | 940 afyensit #t g1

ST TRl $ UgH - D T Y= $T I«ik qarsy|

: 93 Siul &1 i fFae fre e = giex A i 32
1. forami & forg

2. FeTufaa & farg

3. forg urit fireran @

4. 5% faenfid g UsaT 8

Correct Answer :-

16) AU & df ag) T 746} 511 e g S @RA|

it 0 &Y ot et 9 WY =R A g B A HemA I

uTe+ g dt a8t IRk 31 =it fat sfves ier ur=|

St T g Y FER B Ffer pifeid oo Hed Bt SRA|

T APEL 3T HIRAT IR I fag R &1 afsr sRY|

31aE fifeg =1at fifr & g =iq 31 g =TS Y

TG Fal 37 TR Y, 791 & T I01 a1 gy |
FIfeH THaUd F UTH AT S Hoi- SHUR aRT I

ST U= $ Ugh A12 IR WM 91dl U= T Sk 9a13¢|
UL Ife Ffd F =7 A Yo 81 O Hfd Bl T8 7@ P A18 191 82
1. SMA & U8 R

2. JAT 7St & fHR Hed B S W
3. 3 DI AW
4. RRIY o1 S WR

Correct Answer :-

. THATIE & R Hed B ST W



17) A9 & df ag) THETt a6 5l e g $ @RA|

it 0 &Y ot et 9 WY =) A g Y A HemA

uTeH g al ad) Fifk 31 ot fbat e giew Uk

it T B A 9RR) 7 ffer iR g wde F sRA|

T AHET 3% HRAT U I fog R &1 9T SR

3rog fifS 1t Fifr & g =g @t g =wrs faami
THE Fal g7 TRA HY, 791 & T I11 a7 fFHgry|
FIfeH THata & UTH HIAA S Hoi SHUR aRt I

ST U= $ Ugdh A2 IR WM 91d U= BT Sk 9a13¢|
UL gfe A U # Yo g dl Ba fra = u & 51 Y=o+ aredr 32
1. H3

2. Th Hid

3. Tl el o TaTel
4. dIqRIe

Correct Answer :-

. MHd & ard

18) WY &) &Y ad) T ) 571 Tigpa g & @R

it o &) &Y T 9 AR =R e g B g TR

uTe & at agt IRk 31 =it fpat sfves er urA|

St @ Y <t TR B T wfidt oa i B sRA|

YT AP ! 3% HHRAT IR I fag R &1 afsr sRY|

3rag fifeg =1at Fifr & g =iq 1 g =vrs Y

THE Fal g H1TE Hi, 791 & T4 11 a1 AR |
Pifed T Had F U HIA & Hoid SR IR Il

ST UL P UgHR 1 IR WM 9T U= BT @ ga1se|
WH: 59 Sidar A &fa 7 5w siaa & ufa ot g1 e 3t 32
1. 8l



Correct Answer :-

19) AU & df ag) T T4} 511 e g P WRA|

it 0 &Y ot et 9 WY =) A g Y A HemwA I

uTe g1t agt R 31 ot et afivea geer A

St @ B A TR ] AT B o Bed B SRA|

T APEL 3T FIRAT IR I fag R &1 afsr s

3rog RifS 7 Fifr & g =g &t g s faai
THE Fal 37 1A HY, 791 & a9 I11 a7 gy |
FIfeH THata & UTH AT S Hoi SHUR aRt I

ST U= $ UgHh A7 IR WM 91d U= BT Sk 9a13¢1
US: 59 Hfadl A Hf @ A 3 Ul § fHa Hia &) sifoued forar 82
1. Had bl 1t =0 0 5 4 357 &1 918

2. HId N & A D ST

3. dad Sl & Ul T Ug

4. Iudaq quft

Correct Answer :-

. ITgad Tt

20) UMY &l al 98 Iqf 996 51 Mpd 71 & AR

St oy &Y <t HET 9 R =R A g Y O weRA

uTe & at agt iRk 31 =it fpat sfves er urA|

St @ Y <t TR B T wifidt oo wda B sRA|

T APEL 3T HHRAT IR I fag R &1 afsr sRY|

31ag fifeg =1at fAifr & g =iq 1 g =TS Y

QT Bl 3 1@ A, 51 & 99 IR ag 1 FERT |
Pifed THaLd & YT AT & Hoi- SHUR aRI Il

ST Ui B UghR - U I 91 U= BT Sk TSy
U TP APl 3R HTHRYT R H G99 $8 NSTaR H1 &1 F daR 82
1. Y AU A JAFT TS

2. ZTH A PIS T



3. o 98 $WI & Wifaed g Ah
4. 9Y 98 URA A @ T

Correct Answer :-

. TS99 98 w1 & e U 38 9

21) Y &Y Y ad) THET S &7 Tipe q S @R

St oy Y <t BT ¥ TR =R A g Y 9 weRA

uTe g1 at a8t Rk 31 =it et afvea gRer )

St @ Y < TR B T wifidt oa wdg B sRA|

YT APEL 3% HRAT IR I fag R &1 afsr sRY|

3rag fif ) Fiftr & g =g &t g =rTs faRi

THE Fal 3 H1a HY, 79 & a9 I1T a1 R |

PifeP THaALd & YT AT & Hoi- SHUR aRI Il

S UL P UgHR 1 IR WM 9T U= BT @R qa1s¢|
WRH: 5ig B MG TRM &1 W1 e 9 ) 3 i g 3@ & Yyar a@d 82
1. ASTHE A BT JW

2. 378 HISH & J@ Dl

3. WTHES & g !

4. 313} R SR 719t MY & @

Correct Answer :-
. 331 g SR 71at MR & g

22) ATV &) Y ag THETt 9} 71 i e Tid & R

it og Y | PeT a9 A =R} Frd g Y A7 T

uTe gt at agt IR 31 =it fpat sl Wer urA|

St & g o SERT ] ffe PIfidl o Hed 31 SRA|

T AHE 3 HRAT IR I foag R &) 9T sRY|

s Fifg =1a ity & g iq 1 g =vrs Ry

THE Bl 3 1A Y, 51 & 9 IR g1 Ry |

Pifed T Haa F U HIA & Hold SUR IR Il

SR U= B UgHR A1 T WM 91dd WA BT @k 9a13¢|

TH: 9 Bt PR TSl a% & 7T A frae®! o o o1 FaR §2



1. il S U Bl

2. Hd1-fUdl & UF &t
3. 9l A5l Bl

4, 30 g9 Dl

Correct Answer :-

. Y HEdl B

23) UV g1 Y ag} THE g6 7l Mg 1q S AR

i o &) Y T 9 AR =R e i Y g FemAn

T1g- gt ot agt IR &) =it forat sRe gier a1

it @ gt IR 7 FAfer wifidt oot ded # sRA|

T AP L 3% HIRYT IR I fag R &) a1 sRA |

s Rifg w1a fFiftr & g iq 1 g =vrs R

QT Bl 3 1A Y, 51 & 9 IRT g1 Ry |
Pifed T Had F 4 HIA & Hold SUR IR Il

Iued Ui &1 Ugh? 1 Y oM 91d U= &7 S« 9a13¢ |
UH: B4 BT T & 9, I SR aTaTd & HeRA & die 71 $RT 32
1. Ra & ufa og

2. PO & Ufd UH

3. X o Ufd UH

4, ¥ & Yfd I\

Correct Answer :-

- P AU

24) ATV &) Y ad) THETt 9} 71 i i & @R
it o] &Y ot et 9 WY =R A g Y A HemA I
uTe+ g dt agt IRk 31 =it fpat sfves Eer ur=|

St @ B A TR ] AT B o Hed B SRA|
T APEL 3% HIRAT IR I fag R &1 afsr sRY|

3og RifS 7 Fifr & g =g &t g =g faai
THE Fal g7 1A HY, 791 & a9 I171 a7 fFgrRy|
FIfed THatd & UTH HIAT S Hoi SHUR aRtl



SUYF YT D1 UGHR A1d I S T U BT I« darse|

U=: HfY Uy, vl 3R ugTes & = u § W} Fwor 1 Wifren w wred 1 918 82
1. 79 I PIS T

2. 91 H @1 STGT ATHYIE B |

3. YR H g1 16l @RI ¢ |

4. U IH T Hfd P M Fud s & € g agar g

Correct Answer :-

. FUTH A S fFd M Fu A sa A g g aRar gl

25) AW &Y Y ag) THE~ g} 7l Mg 1q S @R

St Oy &Y < H7T ¥ WY =R A ig Bt O AR Il

u1g- gt ot a8t IR &) =it forat sRe gier urA|

it @ g dt IR 7 FAfer wifkidt oot dea # sRA|

T AHEY 3% HTHRAT IR I fog R &) 9T SR

3rag fifR e Fiftr & g g @t g =wv1s Ry

THE Bl 31 1A Y, 51 & 9 IRT g1 Ry |
Pifed T Haa F 4 HIA S Hold SuR IRt Il

IUYed TEi &1 Ugh? A Y oM 91d U= $T S« 9a13¢ |
wH: Bid f5d 9w & forg i1 dtel &1 I i Bie & daR 82
1. 3TH A BIs 78!

2. Sl H 91U 311 & forg

3. g, Ht 3R ARe & forg

4, TqTEI B ATST 3R HHIA P g

Correct Answer :-

. 97l Bt ATST 3R A P fow

26) AW g Y ag} THET S} &7l e q S @R
it o &Y ot Pt 9 WY =R A g Y A HemA I
uTEH &1 a1 9t R 31 <t fora) shvea Rer U1

St W Y < R B A wifeidt oo weg B SRA|
T AHET 3 HHRAT U I fog R &1 afer SR

3TeE fafe T FAfYr & g e 3t g =g i



G Fdl 31 AR I, 5161 & I a1 dS 1T (HERT|

Pifed T Fatia F 4W HId & Hol- HUR IR |l

ST Ui $ UgH? T IR WM aTd U= HT Sk garge |

WH: 3O SHTET & Fid foh 9 3t S WR FgRd a1 9184 §2
1. S & U Bl

2. STS1 &1 T bl

3. 511 & G IUa IR dTdra! P

4. HEd b US Bl

Correct Answer :-

« 91 & 99 IYI 3R dTelal bl

27) WY &) Y ag} TaETt 9 1 i i & @R

i o &) Y BT 9 AR =R e i Y g Feman

uTe gt at agt IR 31 =it fpat sfves er urA|

it @ g dt SR 7 FAfer wifidt oot ded # SRA|

T AHET 3% HTRAT IR I foag R &) afer SR

3Tog Rif at FAfY & g wig &t g w13 faamyn

QT Bl 3 1A I, 51 & a9 IR g1 Ry |
Fifed T Haa F 4 HIA & Hoi SUR IRt Il

ST U= F UgH A1 T WM 91et WA T @k 9a13¢|
W=: Ufe AT oW B URR gl dl B f5a udd &7 IR g1 a18dr 82
1. Mg

2. fdeamaa

3. fgATe™
4. 3RTaC

Correct Answer :-

. TMaga

28) WY gl Y ag} THET q4} &7l Tipel q P @R
it o & ot et 9 WY =) A g Y A HemA I
uTe g it agt i @) <t ot elve qiew uRA|

St @ g1 At SR ] (AT PIfeid ol Bed Bl SRA|



T AP 3% HHNAT IR I fag QR a1 afet SR

3Tog Rife at ATy & g g &Y g w13 fammyn
TG Fal 37 TRA HY, 791 & T I171 aST fFgry|
FIfeH THatd F UTH HIAT S Hoi SHUR aRt I

ST U= $ Ugdh A2 IR W 91d U= BT Sk 9a13¢1
U “PIfeic) o Hod DI SR’ H HIF-AT SAPR 32
1. 3UHT

2. SfFUY

3. %(dh

4. D&M

Correct Answer :-

29) ATV &) oY a€ TaET= 93 51 T g & R

it o &) Y T 9 AR =R e g B g TR

T1g- gt ot 9@t Ik &) =it forat ee gier a1

St T Y <t TR B T wfidt oa i B sRA|

T APE! 3% HHRAT IR I fag R &1 afsr sRY|

3Tog Rife Tat Y & g g Y g w13 faamyn

QT Bl g 1A 9, 51 & a9 IR ag 1 FHERT |

Pifed T Hadd F U HIA & Hoi SR IR Il

ST UL P UgHR 1 IR WM 9T U= BT @R a1se|
U “BIePH THAthd & UTH HId & Hod SHUR IR A FIT TdAd 82
1. Ho B Q|

2. BT b Holl B 50 ST |

3. Hagd 8§ g |

4. 91 &1 HicgR el & fow 3 9t wgal & off BT F= &7

Correct Answer :-

. §9 &] PiceR nfeal & o1 3 I wgdl &1 it FeaR B 3|

30) A &) &Y a8} IH@I g 7ol e 1q S AR
it o & |l et 9 A =R} A g A A HemR



uTe g1 at agt R 31 ot et afivea geer A

it @ gt IR 7 Fafer wifeidt oot wea # sRA|

T AHEY 3% HTHRYT IR I foag R &) 9T SR

rag fifR e Fiftr & g g &t g =vrs Rt
THE Bl 3 1R I, 51 & 9 IRT ag 1T Ry |
Pifed T Haa F 4 HId S Hoid SUR IRt Il

ITYe Ui &1 Ugh? R Y oM 91d U= $T S« 9a13¢ |
W: oft UG B &) P81 99 W31 T A g F1 9 TR | T ared @2
1. Ife U B Al HFUR W G |

2. giE UY Bl dl g B IR B |

3. f¢ UY & =0 H Yol B dl e BT Tl & iy =R

4. 10 &1 IRE g IR G |

Correct Answer :-

. ¢ U] b &0 H Gord g1 <l 1 &1 T & i AR |

Topic:- General English(L2GE)

1) Fillin the blank with the correct option in the given sentence:

The heart-- news cheered me up
1. --ening

2. --ened

3. --ed

4. --ily

Correct Answer :-

2) Fill in the blank with the correct option in the given sentence:

By giving wrong advice, Peter had --led me.
1. mis--

2. ill--



3. over--

4, out--

Correct Answer :-

e mis--

3) Read the following passage and answer the question given below:

Features of the mouth parts are very helpful in classifying the many kinds of insects. A majority of insects
have biting mouth parts or mandibles as in grasshoppers and beetles. Behind the mandibles are the
maxillae, which serve to direct food into the mouth between the jaws. A labrum above and a labium below
are similar to an upper and lower lip. In insects with sucking mouth parts, the mandibles, maxilla, labrum,
and labium are modified to provide a tube through which liquid can be drawn. In a butterfly or moth, the
coiled drinking tube is called the proboscis. Composed chiefly of modified maxillae fitted together; the
proboscis can be extended to reach nectar deep in a flower. In a mosquito or an aphid, mandibles and
maxillae are modified to sharp styles with which the insect can drill through surfaces to reach twice the
length of its body. In a housefly; the expanding labium forms a sponge like mouth pad used to stamp over
the surface of food.

According to the passage, the word ‘proboscis’ refers to:
1. Nectar

2. The food tube constructed of modified maxillae
3. A kind of flower

4. A kind of butterfly

Correct Answer :-

e The food tube constructed of modified maxillae

4) Read the following lines of a poem and answer the question given below it.

The god is gone. His cave is bare.

In shadow from the sun

The clotted bats hang from the roof.
Below, the scorpions run

And pious folk no longer come

Lest evil should be done.

His voice was heard: It told his tribe
To leave this sun-cursed hill.

They went, and left his dwelling here.
They went; it was his will.

Who piled these stones knows when he comes
And where he stays until



According to the poem, what did the tribe leave behind?
1. Stones

2. Pious nature

3. Evil

4. God’s dwelling

Correct Answer :-

e God'’s dwelling

5) Read the following lines of a poem and answer the question given below it.

The god is gone. His cave is bare.

In shadow from the sun

The clotted bats hang from the roof.
Below, the scorpions run

And pious folk no longer come

Lest evil should be done.

His voice was heard: It told his tribe
To leave this sun-cursed hill.

They went, and left his dwelling here.
They went; it was his will.

Who piled these stones knows when he comes
And where he stays until.

What is the poet describing in the given lines?
1. Atemple with a god in it

2. A temple full of devotees

3. A temple made of cement

4. An abandoned temple

Correct Answer :-

e An abandoned temple

6) Read the following lines of a poem and answer the question given below it.

The god is gone. His cave is bare.

In shadow from the sun

The clotted bats hang from the roof.
Below, the scorpions run

And pious folk no longer come

Lest evil should be done.

His voice was heard: It told his tribe



To leave this sun-cursed hill.

They went, and left his dwelling here.

They went; it was his will.

Who piled these stones knows when he comes
And where he stays until.

How many different living creatures are mentioned as occupants of the abandoned place?
1. Two

2. One

3. Three

4. Four

Correct Answer :-

e Two

7) Read the following lines of a poem and answer the question given below it.

The god is gone. His cave is bare.

In shadow from the sun

The clotted bats hang from the roof.
Below, the scorpions run

And pious folk no longer come

Lest evil should be done.

His voice was heard: It told his tribe
To leave this sun-cursed hill.

They went, and left his dwelling here.
They went; it was his will.

Who piled these stones knows when he comes
And where he stays until.

According to the poem, why is His cave bare?
1. Because god has left the temple.

2. Because hot sun makes it impossible to stay.

3. Because bats reside in it.

4. Because the hill is cursed.

Correct Answer :-

e Because god has left the temple.

8) Read the following passage and answer the question given below:

Features of the mouth parts are very helpful in classifying the many kinds of insects. A majority



of insects have biting mouth parts or mandibles as in grasshoppers and beetles. Behind the
mandibles are the maxillae, which serve to direct food into the mouth between the jaws. A
labrum above and a labium below are similar to an upper and lower lip. In insects with sucking
mouth parts, the mandibles, maxilla, labrum, and labium are modified to provide a tube through
which liquid can be drawn. In a butterfly or moth, the coiled drinking tube is called the proboscis.
Composed chiefly of modified maxillae fitted together; the proboscis can be extended to reach
nectar deep in a flower. In a mosquito or an aphid, mandibles and maxillae are modified to sharp
styles with which the insect can drill through surfaces to reach twice the length of its body. In a
housefly; the expanding labium forms a sponge like mouth pad used to stamp over the surface of
food.

Insects are classified by

1. the environment in which they live
2. the structure of their mouth

3. the food they eat

4. the number and type of wings they have

Correct Answer :-

e the structure of their mouth

9) Read the following passage and answer the question given below:

Features of the mouth parts are very helpful in classifying the many kinds of insects. A majority
of insects have biting mouth parts or mandibles as in grasshoppers and beetles. Behind the
mandibles are the maxillae, which serve to direct food into the mouth between the jaws. A
labrum above and a labium below are similar to an upper and lower lip. In insects with sucking
mouth parts, the mandibles, maxilla, labrum, and labium are modified to provide a tube through
which liquid can be drawn. In a butterfly or moth, the coiled drinking tube is called the proboscis.
Composed chiefly of modified maxillae fitted together; the proboscis can be extended to reach
nectar deep in a flower. In a mosquito or an aphid, mandibles and maxillae are modified to sharp
styles with which the insect can drill through surfaces to reach twice the length of its body. In a
housefly; the expanding labium forms a sponge like mouth pad used to stamp over the surface of
food.

It may be concluded that the purpose of this passage is to:
1. Complain
2. Persuade
3. Entertain

4, Inform

Correct Answer :-

e Inform

10) Choose the appropriate pronouns for the sentence given.



After an hour, the flight attendant announced that had reached ____ destination.
1. them, their

2. us, our

3. we, ours

4. we, our

Correct Answer :-

11) Fill in the blank with the correct option in the given sentence:

The _____ given by the students did not hold water in the long run.
1. referees
2. referred
3. referring

4. references

Correct Answer :-

« references

12) Fill in the blanks with the appropriate conjunction.
Iwin____ lose, I will compete the race.

1. Whether, or

2. As, whether

3. Neither, or

4, Either, neither

Correct Answer :-
e Whether, or

13) Which of the following options best combines the following sentences?
He finished his work. He went home.

1. As he finished his work, he is going home.

2. He went come before finishing his work.

3. After finishing his work he is going home.



4. Having finished his work, he went home.

Correct Answer :-

» Having finished his work, he went home.

14) Choose appropriate articles for the given sentence:

Kitty got ___ best present ever on her _____ fortieth birthday.
1. an, the

2. the, no article required

3. no article required, the

4. a, no article required

Correct Answer :-

« the, no article required

15) Choose the appropriate option that rewrites the given sentence in its active voice.

When he arrived home he was arrested by the police.

1. When he will arrive home, the police will arrest him.
2. When he arrived home, the police arrested him.
3. When the police arrested him, he arrived home.

4. Police arrested, when he arrived home.

Correct Answer :-

« When he arrived home, the police arrested him.

16) Choose the appropriate synonym for the highlighted word in the given sentence.

I was filled with elation when I passed the exam with a first class.

1. satisfaction
2. joy
3. pride

4, consolation



Correct Answer :-

17) Choose the appropriate tenses to fill in the blanks in the given sentence:

I cannot begin the dress, until my mother it for me.
1. sew, cut

2. sewed, has cutting

3. sewing, cuts

4. to sewing, will be cutting

Correct Answer :-
e sewing, cuts

18) Choose the appropriate antonym for the highlighted word in the given sentence.

John maintained a brilliant service record which helped him to become the manager of our
company.

1. consistent
2. obscure
3. shining

4, radiant

Correct Answer :-

e obscure

19) Choose the appropriate prepositions for the given sentence:

He was standing the door and listening attentively the voices

1. behind, through, outside
2. back of, to, inside
3. between, for, from

4. against, to, within

Correct Answer :-



e against, to, within

20) Choose an appropriate modal for the given sentence:

Rashmi_____ drive but she does not have a car.
1. cannot

2. might

3. shall

4, can

Correct Answer :-

21) Choose the option that best explains the highlighted expression:
I want to see the colour of his money before I say the car's his.

1. make sure that he pays for it

2. make sure that there are no counterfeit notes in them

3. make sure that he has no black money

4. enjoy profits

Correct Answer :-
* make sure that he pays for it

22) Choose the option that best transforms the sentence into its Indirect form:

Tom says, ‘Mother, can you sew this button for me, please?’

1. Tom asked his mother if his mother could sew that button for Tom.
2. Tom requested his mother if she could sew that button for him.

3. Tom requests his mother if she can sew that button for him.

4. Tom pleaded his mother if she can sew that button for me.

Correct Answer :-

* Tom requests his mother if she can sew that button for him.

23) Choose the option that substitutes the given phrase appropriately.



The time after twilight and before night
1. Evening

2. Sunset

3. Dawn

4. Dusk

Correct Answer :-

24) Read the sentence carefully and choose the option that has an error in it:

We use a converting table to change miles into kilometers.
1. converting table

2. No error

3. Weuse a

4. to change miles into kilometers.

Correct Answer :-

e converting table

25) Change the given statement into direct speech.
He said that he would be in Delhi the next day.

1. He said I will be in Delhi tomorrow.

2. He said, “I would be in Delhi tomorrow.”

3. He said, “I will be in Delhi the next day.”

4. He said, “I will be in Delhi tomorrow.”

Correct Answer :-

« He said, “I will be in Delhi tomorrow.”

26) Fill in the blank with the most appropriate preposition in the given sentence.
Did you hear the major accident that happened last night?

1. before



2. about

3. across

4. beside

Correct Answer :-
e about

27) Choose the most appropriate determiner in the given sentence.

of the film was worth watching though a bit of it was drab!
1. Each
2. Few
3. Both

4. Much

Correct Answer :-

e Much

28) Read the following passage and answer the question given below:

Features of the mouth parts are very helpful in classifying the many kinds of insects. A majority of insects
have biting mouth parts or mandibles as in grasshoppers and beetles. Behind the mandibles are the
maxillae, which serve to direct food into the mouth between the jaws. A labrum above and a labium below
are similar to an upper and lower lip. In insects with sucking mouth parts, the mandibles, maxilla, labrum,
and labium are modified to provide a tube through which liquid can be drawn. In a butterfly or moth, the
coiled drinking tube is called the proboscis. Composed chiefly of modified maxillae fitted together; the
proboscis can be extended to reach nectar deep in a flower. In a mosquito or an aphid, mandibles and
maxillae are modified to sharp styles with which the insect can drill through surfaces to reach twice the
length of its body. In a housefly; the expanding labium forms a sponge like mouth pad used to stamp over
the surface of food.

What does the author compare labrum and labium to?
1. Mandibles

2. Maxillae

3. Length of the body

4. Upper and lower lips

Correct Answer :-

e Upper and lower lips



29) Choose the right tag:

She underwent surgery last week, ?
1.isn't she

2. didn't she

3. did she

4, hasn't she

Correct Answer :-

e didn't she

30) Read the sentence carefully and choose the option that has an error in it:

Mr. Shimoto was planning to send to me a package from Japan as soon as he arrived home from
his trip to Hawaii.

1. to me a package from Japan
2. as soon as he arrived from his trip to Hawaii.
3. Mr. Shimoto was planning to send

4. No error

Correct Answer :-

e to me a package from Japan

Topic:- Social Science (S5C)

1) Who said that, ‘But in the long run, it would be in the interest of all to forget that there is
anything like majority or minority in this country and that in India there is only one community’.

/

A ®a1 1%, AP @a Tug ¥, g8 Yo Tft & fea & e fr 37 =1 o 959 a1 SeRieTs okl B
A B 3R URT & Fad Ub Y 8|

1. Abdul Kalam Azad / 3fegd hddTH TSl
2. K. M. Munshi / &. T. G=it

3. Ayyangar / 3{RITR

4, Sardar Vallabhai Patel / 9RGR <=Ic'1c1‘4-l'l'5c Ued

Correct Answer :-



o Sardar Vallabhai Patel / TRqR EIQ'—Q'TQ-ITE: ucd
2) The cycle of micro teaching is: / 'Fng'ﬁﬁ =i q&H ﬁT&'I'U[) DI Uh %: -

1. Plan — Feedback — Teach — Re-feedback — Reteach / TSI - Uﬁ'ﬂf@ — fRrafor - gﬂqﬁfﬂf@ -

2. Teach — Feedback — Reteach — Plan — Re-feedback / fRI&0T - Qﬁg@ - gflﬁf&m - ST -
Eﬁ:ﬂﬁl@f@

3. Plan — Teach - Feedback — Re-plan — Reteach / ATSHHT - fRI&0r - Tiayfy - ffltl‘fGHT - HT"'@T&‘IUT

4. Teach — Reteach — Feedback — Re-feedback / TRI&OT - W&‘I’UT — gfagfy -

. ufagf®
Correct Answer :-

o Plan— Teach - Feedback — Re-plan — Reteach / TSI - fRr&f0r - uﬁg@ - Q:I'QT\—)‘HT - 1Elf'ﬂﬁf&l'UT

3) Who is the exponent of Project method? / gfaerT fafy &1 trl?mm o %?
1. F. Froebel / U, hidd

2. D.W. Allen / S1. €9, TaiH
3. John Dewey/ﬁhﬁ

o
I

4. W.H. Kilpatrick / S Ud.

Correct Answer :-

]

« W.H. Kilpatrick / S&g Ud].

4) Which of the following discriminatory taxes did Emperor Akbar abolish in 1564 ? / 1564

H gyTe JPpex A fAafatad § & fea dgurayul &% & JaT # fear 3
1. Kharaj / ¥Rl
2. Zakat / ShId

3. None of the above/B'q?jaﬂﬁ@(aﬁé:lﬁ
4. Jizya | SIforn

Correct Answer :-

. Jizya / SIfomn



Consider the following matches:

1. Ashtapradan Maratha Empire

2. AshtaDiggaja Vijavnagar Empire
3. Navarama Harsha

4. Local Self Government | Chola

[ FTEET #49 W @R 4

1. Hsequ TS HEH=T
2. eI Haa=e HHTT
3. Aated k]

4. TUET @ WER | 9

1. Only 1,2 and 4 are correct / $dd 1,2 3R 4 el &
2. Only 1 and 3 are correct / %ad 1 3R 3 gl §
3.Only 1,2 and 3/ %dd 1,2 3R 3

4. All are correct / T8 W&l &

Correct Answer :-

« Only 1,2 and 4 are correct / Had 1,2 3R 4 T &

Match the Following rulers with their capitals:

1. Maurva A Mathura
2. Pallava B._Pataliputra
3. Chalukva | C. Kanchi

4. Kusana D). Badami

| TTafafaa amaat &1 3ddT Taefaal & TG 8T &1
1. #& A HT
2. Joold B_crrc?»?rga’

3. ATl C.rEr
4. T D. FIErHr

1. 1-A,2-B,3-C,4-D
2. 1-A,2-C,3-B,4-D
3. 1-B,2-C,3-D 4-A
4. 1-C,2-B,3-D, 4-A
Correct Answer :-

- 1-B,2-C,3-D,4-A



7) is a scoring tool created for assessment of student’s performance in any area,
including curricular subjects, curricular activities, and social and personal qualities. /

it ot &1 A B & WA & e & 1w s mar weife ga B, R ureuswH faww,
ureuaat Tl nfafaftat sk wrfore ve safdra qour wftifera #1

1. Rating Scale /T Thd

2. Rubric / Tfsd

3. Credit Consideration / e 3%{581
4. Excel / ToRId

Correct Answer :-

« Rubric / =fsgd

8) The English East India Company was abolished in the year ./ 30eh $¥%¢ gfeur Hu HY
ad H AT B fear war ut

1. 1859
2. 1860
3. 1858

4. 1867

Correct Answer :-

o 1858

9) The lowest level of learning in cognitive domain is: / GJHTH® ST # 3R &1 fAgaH wR 8:

1. Knowledge / T+
2. Understanding / JHL]

3. Creation / s

4. Application / 3@9@”’[

Correct Answer :-
o Knowledge /3T
10) People’s Plan was advocated by whom? / Tued W $1 aoTad fFas gRI &1 11'5‘ i p)

1. Mahatma Gandhi / HeTHT Trieft

2. Narayan Agarwal / "IRTIUT YT



3. Jayaprakash Narayan / SITHUD IR AIRTYUI

4. M. N. Roy / TH. T. 31

Correct Answer :-
« M. N. Roy /TH. TH.31
11) Select the correct statement.

1.Champaran Satyagraha was the first Civil disobedience Movement under leadership
of Mahatma Gandhi.

2. This Satyagraha was against the exploitation of tenant farmers in North Bihar.
el DY BT TG DY,
1. YR TATIE WeTHT Mih & A | ugar A= 3asn sfiga- ATl
2. U8 HATUE IR fAgR # fereR frami & wiwor & f@ere uri

1. 1 and 2 both are correct / 1 \3‘?|T 2 @'—ﬁﬂé’r%
2. 1 and 2 both are wrong / 1 3?]?2 ‘cﬁ:hﬂaa%
3. Only 2 is correct / &Had 2 HEPI%
4. Only 1 is correct/a?_(ﬁ‘[ 1 ﬂfﬁ%

Correct Answer :-

o 1 and 2 both are correct / 1 3%2@:?[“6!@3[%

12) When was UN Commission on Human Rights established? / Tga 7Y ARG START
Pt RITYT H9 §5?

1. 1946
2. 1950
3. 1949

4. 1948

Correct Answer :-
« 1946

13) In which year was the Reserve Bank of India established? / YR frord & 351

RITYAT fa adf A &1 778 <te



1. 1946
2. 1935
3. 1950
4. 1949

Correct Answer :-

« 1935

14) In 1837 who deciphered the brahmi script referring to ‘Devanam Piyadasi’ the epithet

used for celebrated monarch Ashoka? / 1837 'el', %ﬁ ﬁ'l%ﬂ forfu o fofaa 9ure sne &
forg waih Y 1€ SuifYy ety Rraewdy o1 ord frerer?

1. None of the above / Wﬁﬂﬁﬁﬁaﬁﬁq—ﬁﬁ

2. Alexander Cunninghum / 31 GEEEREa Rl
3. James Prinsep / SRy fo
4. V.A. Smith /91T, [y

Correct Answer :-

« James Prinsep / SIR7 U0

15) Who established Mukti Mission for young women in Pune? / Tﬁ | gaﬁtﬁ & feore 'ﬂ'%l’
forer 1w forea 12

1. Jyotibha Phule / SAIfAHT Bl
2. Pandita Ramabai / GISdT Q?‘:I'I_@ﬂ_sc

3. Ishwar Chandra Vidyasagar / R 9% [UR
4. Savitri Phule / GTfa=t H?JQ‘T

Correct Answer :-

. Pandita Ramabai / Gf&dr THETS

16) Who has the power to dissolve the Lok Sabha even before the expiry of its term on the
recommendation of the Prime Minister? /

YT B RGN uR SrdeTd IATW 819 A Ugd § dieaHT B W $34 &) Ufad fras ura gidl 82
1. President / Iryufd

2. Speaker / 3f&0&



3. Cabinet / #AAST

4. Supreme Court / Faied <A

Correct Answer :-

« President / Jryufd

17) Earlier Pallavas were feudatories of which dynasty? / Ugd Ueed fhyg 921 & qTHd A?

1. Satavahanas / dlddlgd
2. Cholas / T

3. None / ﬁ_sc 7'|_6%
4. Kusanas / U0
Correct Answer :-

o Satavahanas / dlddlgd

18) Saptanga Theory of State was propounded by which of the following texts? / T bT

i Ry Frafeafea # & fea gy gr wirfia far war ar?
1. Rajtarangini / STl

2. Arthasastra / S{URA

3. Manyusmriti / ﬂﬂ@ﬂﬁ

4. Raghuvamsam / W

Correct Answer :-

. Arthasastra/ﬂm

19) Under which Act of the Government of India the unfair trade practices are included? /

YRA PR & 5 Siftfam & ded srgfua R wyre & wnfie far mar 82
1. Money Laundering Act / T @il SifafAay

2. MRTP / TH3{REIU

3. FEMA / BHT

4. FERA /BT

Correct Answer :-

« MRTP / TH3RCIU



20) Under which dynasty did the Mathura School of Art prosper? / g du & agd HYRT
T faTTaw I ge?

1. Kusana / @YU
2. Gupta / [t

3. Sunga / @T

4. Maurya / At

Correct Answer :-

+ Kusana / YU

21) The individual has the right to approach the Supreme Court or High Courts for the
protection of his/her Fundamental Rights as they are

v
ot cafdr o MR SRRy o5 Rem ¥ Ry wdl <maTers a1 S= rarerd) § uges 7 sifteR
TFIFY . #

1. Accessible / ¥
2. Justiciable / TOrfId
3. Justifiable / dHTTd

4. Affordable / gg-1g

Correct Answer :-

« Justiciable / <amafrd

22) The formed as the basis of the Second Five Year Plan aimed at promoting

regional equality./%WﬁWﬁ%@WﬁWWW% STYR
W 1 T3 foar |

1. Industrial Policy Resolution 1948 / m T Thed 1948
2. Industrial Policy Resolution 1951 / 3N fifd Ted 1951
3. Industrial Policy Resolution 1956 / Gﬁ?ﬂm Hifd Thed 1956
4, Industrial Policy Resolution 1977 / Gﬁm Hifd b 1977

Correct Answer :-

« Industrial Policy Resolution 1956 / 3N ifd Tbed 1956

23) Which was the first state to adopt Panchayat Raj System in India? /



HRA H UL IS JUITe! 1 (U= aTa UgalT a9 PI 6T AUT?
1. Maharashtra / HgRTY

2. Madhya Pradesh / 7% Ua=1

3. Rajasthan / XISTRITH

4. Andhra Pradesh / 3y UeQT

Correct Answer :-

 Rajasthan / TSR

24) Which is not a step in Discussion method? / fFrafefad & Q = uR==f fafr &1 Udh

TROT T8I 82

1. Allocating responsibilities for the conduct of a discussion / Y ufteral & Jare & 1%111

2. Working together to find ways of solving the problem / HHXI DI B HRA b A WloH &b
foTY fieihr 1 D=

3. Locating and defining problem of common interest and significance / HIH T 3R e Dt
FHRIT BT Ul AT 3R GRHTT B=e1

4. Finding final solution for the problem [/ JHIT &I 3ifaH g T BT

Correct Answer :-

« Finding final solution for the problem / JHYT Bl 3ffaH Bd JTd BT

25) Which Veda contains Gayatri Mantra? / P ac A MR v THIRd %?
1. Sam Veda / ITH dg
2. Rig Veda / $1dg

3. Yajurveda / qﬁ\lﬁ?

4. Atharva Veda / 3 u?ﬁ‘q’

Correct Answer :-

« Rig Veda/ $1dg

26) Which is the most important primary source for the study of Indo Greeks? /

31 gAIEl & g & fore e Aeayul wrufire wid #i9 a1 e?

1. Monuments / THIR



2. Inscriptions / RIeTTerd
3. Coins / Riad
4, Literary Texts / GT%W gy

Correct Answer :-

e Coins/ Rygp

27) Which of the following combination plays significant role in the increase of population /

frafefed § & 19 a1 Jaeq saen 3t gia § gayul YHeT g
1. Low Death Rate and High Birth rate / 1 Jcg &R 3R 3= T &*

2. Low Death rate and Low Birth rate / 19 g &% IR ISR

3. High Death rate and High Birth Rate / 3= Hg aX 3R 3= TH R

4. High Death rate and Low Birth rate / 3™ Hg aX IR FETAR

Correct Answer :-

« Low Death Rate and High Birth rate / 19 g aX IR I TH R

28) Which of the following is a brainstorming question? / Frafafaa ¥ 3 saue g'@ Uy
&1 Uga BL

1. What suggestions would you offer to protect forests in the country? / S H A HIET & fam
3T T g3Td 712

2. Explain the concept of “Forests”? / g DI HTYRUI B TRAT B2
3. Give five uses of forests? / 11 b UId SUTANT gdrg
4. Describe the forests of Madhya Pradesh? / H&] TR & SHTQ! &l gui B

Correct Answer :-

« What suggestions would you offer to protect forests in the country? / SRIHA T DPIREN D ﬁ'l'q
31T T a1

29) Which of the following is not an objective of group discussion? /ﬁq?l%@?r "

ufverat wg &1 U I5xT T 82

1. Promoting self-study / ¥d-3A&gq DI dgral &l

2. Encouraging creative thinking / Xd-TH® I & Uit d el
3. Stimulating reflective thinking / =N ffae &l IafoTd &



4, Testing previous knowledge/ RN I BT G0 HAT

Correct Answer :-

 Promoting self-study / ¥d-3{&U Eal deldl o

30) Which of the following texts discuss paintings / murals? g A ) S vy R

fufRr foeil ) aaf BT 82

1. Vishnu dharmottara Purana only / PHad ﬁml YR gRIo]
2. All of these / 3TYad Tt

3. Shilpa Sastra only / PHad fRIedT ARA

4, Kashyapa Shilpa Sastra only / PHad HgY FRredr IRd

Correct Answer :-

« All of these / SUgad Tt

31) Which of the following does not apply to a Social Science text book? /fFrafafead a
FIT ATHTIS fAFH Pt Th TSy [Ra®d UR AR 81 gl 82

1. It is a document to be memorized. / dg dIq G aTel Uh ARSI %

2. It is an instructive document creating scope for further reading. / dg Udh 1&g g¥dras g St
3T UG & o3 UeT BT 8

3. It is perceived as a dynamic document. / 3 U TaRiie Gxdrasl & & f[IITQT\_SITaT%

4, It is applied for the welfare of mankind or for the destruction of humanity. / g HI-d S &
HT0T & forT 1 AFadT & famT=1 & forg @y fora e 3|

Correct Answer :-

« Itis a document to be memorized. / e dlg G aTel Uh ARSI %

32) Which of the following is the technique of collecting all sorts of necessary information
about a child with a view to studying and solving his deep-rooted problem? / Ud T B

e8! H&ATS 50 H ot fRAfT & ek A 3T fawg & Jft sifvrard Ja=me v o
¥ arie Fafafea A s g

1. Case study / ferT 3T

2. Experimental study / TONTT S 3T

3. Qualitative study / J[UITHD YT

4. Quasi experimental study / 3{ & TN ieggH



Correct Answer :-

 Case study / fead g

33) White revolution is associated with ./ ’aﬂ wifd _ A Hefea %I
1. Salt / TH®

2. Sugar / EiE|

3. Milk / g¥

4. Rice / dIdd

Correct Answer :-
o Milk/g¥

34) Under which movement the rich landlords/farmers were asked to donate a piece of land to the
landless people? /

53 srigiam & aga iR SfieRT / fham=i @1 yfAE aRT 3t i &1 T gweT gF &3 & g &gt
T T2

1. Bhoodan movement / H& 3figia
2. Cooperative movement / Wﬁ?ﬂ KIMNE]

3. Consolidation of land / Hf¥ T ThIeh Tl
4. Chipko movement / IERCARIFNE]

Correct Answer :-
« Bhoodan movement / Y& 3figic

35) Choose the conventional sources of energy. / FHull & URURS Hial &Y ﬂﬁ?l

1. Natural gas / Wﬁq
2. Solar energy /AR &

3. Bio-energy / EERCT

4. Wind energy / Ud- vl

Correct Answer :-

 Natural gas /Wﬁﬁ

36) Whose assent is necessary in the enactment of a bill into law? /

e & S # sfufafa 3= @ frae) weufa smaxas Bt @2



1. President / TI'gCIﬁ

2. Supreme Court / SdH AT
3. Prime Minister / GHTTHAT

4, Parliament / §9¢

Correct Answer :-

« President / P

37) Which Commission emphasized that for solving the diverse socio-cultural problems of the
modern world, social sciences have become a significant part of formal and non-formal education of
the modern world? /

5T SITaRT A 59 919 W Wk fean & snyfees gfrar ot fafay wmnfsre-wipfos aawarsei o ga o+
¥ forg, wrnfore fagm snyfare gfaar @t siveive ok sMshuaTie fRien 1 v neayf R a9
T 8?7

1. University Grants Commission / [a¥fa=iTera 3rga ST
2. Delores Commission / SARY SN
3. National Knowledge Commission / ?T@Tl I ST

4. Commission on Higher Education / 3= TRefm amanT

Correct Answer :-

« Delores Commission / SARY AN

38) society is characterized as a male-dominated one. / TS B goy-yUr FEFUH
fafia fear s 21

1. Patriarchal / ﬁ’cm?naqa?

2. Matriarchal / HIJHTIHSD
3. Familial / TR@TR®

4. Gregarious /SgaRY

Correct Answer :-

« Patriarchal / fUqaIcd®

39) The Fundamental Rights in the Constitution were described as a pledge to our people and a pact
with the civilized world by i

wfaeym o M siftrer) it TRT 9 a1 & 1Y Jughar 3R gAR @ & fore wfogn & wu o
gfofa fsar mar ari

1. Dr. Rajendra Prasad / SI. IO TG



2. Dr. S. Radhakrishnan / ST. TH. ITUTH ST
3. T. T. Krishnamachari / €1 €. $UHARY

4. Sardar Vallabhai Patel / RER deadH HTS Ued

Correct Answer :-

o Dr. S. Radhakrishnan / SI. TH. JUTH W

40) An example of a meteorological instrument is: / HTQTI'UGTﬂT{ ISUDBRU] BT Th 3glgul
gl

1. Foot rule / ¢ a0
2. Prismatic compass / s

3. Tripod poles / @ELCIVT@{ PG|
4. Centigrade thermometer / Js YA

Correct Answer :-

« Centigrade thermometer / TS YA

41) Who among the following built the Qutub Minar at Delhi? / feecht # Pdd TR &1
oty frafafaa & 9 e owmn ar

1. Qutb-ud-din Aibak / $ds-3e-cH U
2. Akbar [/ PR

3. Shah Jahan / QIgvigl
4. Khizr Khan / f&s @i

Correct Answer :-

« Qutb-ud-din Aibak / $ds-3Ie-<F Ve

42) To teach a lesson on the boundaries of the country, states and districts, the teacher
uses which of following maps? / %ﬂ, I 3 fora @t fwrait u Uh YIS Tl%ﬁ & ﬁl‘l'{, Rrere
g A A fT waRE $1 U Har 82

1. Physical maps / Hifae At
2. Relief maps / S=dTad A

3. Specialized maps / fafRry amfs

4. Political maps / JSTHITdd HHH

Correct Answer :-



« Political maps / ITST1cIeh T

43) Which of the following statements cannot be considered a characteristic of learning? /

Frafefad d A g sy &1 iftrm &) fawar 98Y A= o Jdr 82
1. Learning is limited to educational institutions. / 3fENTH @f&@@ TR I dfHa %I
2. Learning is a lifelong process. / ST T 3TSita- Ufehan gl

3. Learning influences all aspects of behaviour. / HfETH AR &b TH Elgﬂ\ﬁ P gHTAd Bl
gl

4. Learning depends on physical growth and mental maturity. / 3T AR fawr SR
AR gRkusd R 1R e g

Correct Answer :-

« Learning is limited to educational institutions. / 3{fSRTH QeI TR g A 3|

44) The loan facility provided to the farmers for the development of agriculture is known as ./

P & faer & e feami o uer@ &1 9= ardt Bor giaeur H & U U 1 AT 3 |
1. Rural loanable funds / ITHI01 5601 917 By

2. Rural credit / ITHIOT 07

3. Rural development / UTH10 fasr

4. Rural advance / ITHIOT 337

Correct Answer :-

o Rural credit / ITHIOT 50T

45) Which among the following soil type has a property of holding moisture for the
release of plants during the dry period? / FEfafEd ¥ 3 fra Ut & yor A 3w e@fa &
SR Nrel & e & fore smstar YRuT -+ H7 Turent giar 32

1. Lateritic / ﬁ%ﬂs‘c’
2. Red / I

3. Black / A

4. Alluvial / TG

Correct Answer :-

o Black/ AN



The students ability to organize, integrate, synthesize and evaluate knowledge is known
through which of the following types of test? / BTl & I &1 GATId, THIPpd, GaAd
3R geuiferd H3A B Agar fFEfafad S fFd yerR & e & areay J Jid S STl 82

1. Objective Type / B%-‘?CI UhRR
2. Short Answer Type / g 3R YDbX

3. Multiple Choice Type / Sgiddhed! UhR

4. Essay Type / IBEEREIR

Correct Answer :-

» Essay Type/ IBEEREIN

47) The step that is not a part of project method is: / 98 TRI Sif yRAeHT fafy &1 fgw=ar 78t

&

1. Selection of capital / ITeEl o I

2. Executing the project / iAol Fearfed &
3. Providing situation / fRUfd Te™

4. Evaluation of the project / RIS &1 H™ih

Correct Answer :-

« Selection of capital / BRIVEIEICUE]

48) A famous palaeontological hoax related to the finding of the remains of a previously
unknown early human known as Piltdown Man was found in which of the following

countries? / USRS B9 & U # W1 W1 919 U IR URTHS A & S@Rul & @i |
Tefa ue ulig shaiflRusia giaw (A=< arsied arew) fAufefaa & & faa 32 & uram mar ur?

1. France / 19
2. Australia / &T@m

3. England / sﬁ@'
4. Germany / SHAT

Correct Answer :-

« England/ 3”%@

49) The learning strategy that helps the leaner to gain from each other’s effort is: /

ST o St Rremeff &) te g & 7A@ Y Ui S | Heg Bl 8
1. Brain storming / m (a_"f ﬂﬁ'ﬁﬂ)



2. Case study / Y LI
3. Experiential learning / U S{EATH
4, Cooperative learning / H_E;th'fﬁ HfERTH

Correct Answer :-

« Cooperative learning / SREIIRIR e

50) What is the upper limit of the Richter scale? / R T9M # Sudt Wwr & %?
1.9

2. 10
3. No Upper limit/a’ﬁ_gquﬁ%

4.8

Correct Answer :-

« No Upper limit / ﬁé SO AT :Eﬂ%

51) CANCELLED

The World Trade Organisation aimsat ./ fay TR WS H1 G%'W _ gl
1. Encourage embargo / AMUR-UTRIY BT WTed BT

2. Promotion of imports / 3TATd &1 FGIAT &1

3. Free trade / ﬁ:?ﬂ@ IR

4, Restrictive trade / ST AR

Correct Answer :-

+ Free trade / f:3[ced ATUR

52) The process of collecting data on student performance that is used to
evaluate the attainment of certain expectation, objectives or outcomes is
known as: /

B & USRI WR ST TS HI1 &1 a8 Ufshar ForaeT SO $ i, Sexal a1
ufyorr) #t wifer & geaied & R frar orar 8, 98 seardt @

1. Evaluating / i1
2. Assessment / 3T al
3. Scoring / USY LGkl
4. Rating / grerar AR



Correct Answer :-

o Assessment / 3T cl

53) The Woods dispatch of 1854 is related to which of the following? / 1854 PTdS BT

T (5@ Rl Fafife & @ fred wdift &2

1. Introduction of Railways /T BT TR

2. Introduction of English Education in India / HIRd T 3l FRI& BT IR
3. Introduction of the Postal Services / ST aT3{l BT TRTH

4, Setting up of Universities in India / HRd T fasyfaemeral ot =y

Correct Answer :-

« Setting up of Universities in India / HIRd T fayfaemeral & RO

54) TPCC is a body to examine climate change. What is the full-form of IPCC? / Gﬂﬁw

ATy ufad= $1 oiig B3 & e e ey 81 s Ui &1 quf v s g2
1. Intergovernmental panel on climate change / écwom'cm Ul 3119 dﬂlsﬁlc ES|
2. International Panel on Climate change / § AT U 3 EFﬂTE'ﬁT:' ER|

3. International platform for climate change study / E';CQ:IQI"M WeHIH BIR dﬂl‘.‘{;alc I T

4. Inter-panel on climate change / w-aqa 3{i- FATGHE ool

Correct Answer :-

« Intergovernmental panel on climate change / i;C{‘Ier:I.Cﬂ O 3 dﬂlsald ER|

55) Who named the Gulf Stream? / TTe®% & IH BT ATH fHa- I@T1?

1. Benjamin Franklin / ST Shapfer

2. Juan Ponce de Leon / 9 3{[ giy g1 fergm
3. Columbus / PIAaH

4. Thomas cook / YTHY Db

Correct Answer :-

A o

« Benjamin Franklin / SO Thepfer

56) Which of the following causes Normal Faults? / Frafafag ° 9 e sRuam=
Blee () F1d 82



1. Compressional force / Juted 9d
2. Vertical Movement / 3 ¢aTeR T
3. Horizontal Displacement / &fcst fayTa=

4, Tensional force / d-Td-dcd

Correct Answer :-

« Tensional force / d-ld-ddl

57) Which of the following is an example of renewable energy? /Fefafead 9 cack:|

3 ST (AAIHRUINY FHlh) BT TP IS0 82
1. Petroleum / ﬂ‘@ﬁﬂm
2. Coal / HITQAT

3. Natural Gas / W o
4, Solar Energy / IR 3ol

Correct Answer :-

« Solar Energy / IR Sl

58) Almost all of Iron Ore Production of India is confined to which among the following five
states of India? /

YR & T G A g Iadare Fufef@d # @ WRd & &9 9 g Isu) o Hfa g2

1. Odisha, Karnataka, Chhattisgarh, West Bengal and Uttar Pradesh / 3nfeem, FHAfcd, TTTe, ufym
TS 3R IR U™

2. Odisha, Karnataka, Chhattisgarh, Goa and Jharkhand / 3nfeszm, HAfed, THRATE, dT 3R FIRTS

3. Odisha, Karnataka, Chhattisgarh, Madhya Pradesh & Jharkhand / e, dHfesd, TG,
AU 3R JRTS

4. Odisha, Madhya Pradesh, Chhattisgarh, Andhra Pradesh and Tamil Nadu / 3=, He&amcxT,

Correct Answer :-

 QOdisha, Karnataka, Chhattisgarh, Goa and Jharkhand / 3nfsam, HAfed, THRATE, TdT 3R IRTES

59) What is the name of the world’s first Greenhouse Gases Observing Satellite launched by

Japan in 20092 / 2009 ® SITIT gRT YR 5T 7T fay & yga WHeeH A9 s@aie
IUUE P TH FT 8?2



1. Tadami / (_‘l'm

2. Akatsuki / SThTID!
3. Ibuki / SgDI
4. Hayabusa / GIATGH[

Correct Answer :-

« Tbuki/3gbt

60) Which among the following bodies received Nobel prize for peace for their efforts to
build up and disseminate greater knowledge about man-made climate change, and to lay the
foundations for the measures that are needed to counteract such change? / ﬁ'ﬁﬁ'@’d )

o e A wra At srerarg ulada & e # eiftre 9 eiftre 319 & fAator ek
TR & fore & forg, SR 59 avE & uRad+ &1 ufdeR #1 & g smazas Surl &t
i 7@ & fore iea wnifa Rver ure fear

1. IPCC

2. UNEP

3. UNDP

4. UNFCCC

Correct Answer :-

« [IPCC



